B A e R B
X, BR

R H S A PR A T
T AT DB 25 A 1620205 6 51
TEL: 021-57640006 FAX: 57644031
www.freddie.net.cn



PR, BRI
PD [20|R]| s |- [15] -

S 6J| - |Al4| - |C

Ve @ 6 6 @

OW AL AR CRAR LB R IR
QWAL HUR CRAK LA R FTRR)
WAL 5T CRAR LA R 5T

DITHE
B FL 7 v
Pudifesk: 47 &1 R 4x2.5) .
6J (&1 ]~ 6x4) P
FEE Sk ABE T RSF 4x2.5) .
6B (& 1 ]~ 6x4)

ANFE4%sk: B3, B4. B5. B6
Wi BO1 (G1/8) . B02(G1/4)
©) LWL
OFEANE A, 5N BTG,

i1 ATEREESUHIRD, TRALYE T PSORN, PR
TR 20, FURIRMERHEOL, M6xd e
T, SIBO M1, B E, %@ :
#4524 : PD50RN-20-6B-A14 waw | [
6 PO 1

Bl 2. ATHREESCREE O, WA R PSORN,
ITHE 20, EASImIEREEEL, Hid 6x4 7
BT, wAIZgIMI4, PREEANE . U@Q@fﬁ
#1'5 %: PD50RN-20-6B-A14-C

W iehaigs

W 3. TR EEURER 1, WAk P8RS, 4THE 10, EASumE PG RL,
HHS 6 B 1, B M2, #EENE.
755 PD8RS-10-6]-A12

Bl 4. VT eRdE AR, WAL PSRS, ATHE 3, HAumik wIEEEkL,
HEE 657, IR L M8, FENE .
75 4 : PDSRS—3-6B-A8

B 5: VTR B, ARCRAE, 1TFE 10, B uim ARk,
K P3OFS Wi 4k FH (PGB 42, 228 e M14, RN E.
5 k. PD30F-10-B6-A14

B 6: T REE U &R, AR A (R P30FS W ELACERD (75 Ui B H ZEHS
MR E), TR 10, EASumARCESL, ANECIERIRZ, ZRIRg M4,
ST N E
454 PD30 (F)-10-B6-A14



ng

PD1R()-3-4B/4J-A8

4B

PD2R()-3-4B/4J-A8

PD3R()-3-4B/4J-A8

AW IN PO

PD4R()-3-4B/4J-A8

ng

PD1R()-10-4B/4J-A12

PD2R()-10-4B/4J-A12

HHFSB

PD3R()-10-4B/4J-A12

AW |IN|IFP|OQ

ik 2

PD4R()-10-4B/4J-A12

H10

485

ng

< - H14
'p]
ML2X1 3
o

PD1R()-15-4B/4J-A12

285

PD2R()-15-4B/4J-A12

S13

PD3R()-15-4B/4J-A12

AIW[INIFL|Q

PD4R()-15-4B/4J-A12

ik 2

——8'0XGW
e
595
635

|
|
! ==
B5 I | +—HI0
| — |
|
|

ng

H14

PD1R()-20-4B/4J-A12

MI2X1 2
o

35

3

PD2R()-20-4B/4J-A12

PD3R()-20-4B/4J-A12

S13

695
735

AW [|IN|FL|Q

PD4R()-20-4B/4J-A12

[

H10




M8X0.75
H10

18

iR o

F8

31

L1

H14
Miex1 ¥
™~

—

25

2

S13

=

Hie

46

L1

H14

M12X1 &
Jwn

S13

f1i 2

= L1

PD6R()-3-4B/4J-A8 7
PD8R()-3-4B/4J-A8 5.5
PD8P()-3-4B/4J-A8 8 |55
PD10P()-3-4B/4J-A8 | 10 | 5.8
PD15P()-3-4B/4J-A8 | 15 | 6.5
PD20P()-3-4B/4J-A8 | 20 | 7.3

= L1
PD6R()-10-4B/4J-A12 7
PD8R()-10-4B/4J-A12 5.5
PD8P()-10-4B/4J-A12 8 |55
PD10P()-10-4B/4J-A12 | 10 | 5.8
PD15P()-10-4B/4J-A12 | 15 | 6.5
PD20P()-10-4B/4J-A12 | 20 | 7.3

5 L1
PD6R()-15-4B/4J-A12 7
PD8R()-15-4B/4J-A12 5.5
PD8P()-15-4B/4J-A12 8 |55
PD10P()-15-4B/4J-A12 | 10 | 5.8
PD15P()-15-4B/4J-A12 | 15 | 6.5
PD20P()-15-4B/4J-A12 | 20 | 7.3

= L1
PD6R()-20-4B/4J-A12 7
PD8R()-20-4B/4J-A12 5.5
PD8P()-20-4B/4J-A12 8 |55
PD10P()-20-4B/4J-A12 | 10 | 5.8
PD15P()-20-4B/4J-A12 | 15 | 6.5
PD20P()-20-4B/4J-A12 | 20 | 7.3

R &




H17
M14X1 S

26

47

L1

26

47

[

H17
M14X1

||| [+—s186

28

i S

T—Hle

o2

Ll

°8

iERs d | L1
PD10R()-6-6B/6J-A14 | 10
PD15R()-6-6B/6J-A14 | 15| 9
PD4L()-6-6B/6J-A14 13.5
PD6L()-6-6B/6J-A14 13.5
PD8L()-6-6B/6J-A14 13.5
PD10L()-6-6B/6J-A14 | 10 | 15.5
PD15L()-6-6B/6J-A14 | 15 | 15.5
PD10B()-6-6B/6J-A14 10 | 16
PD6LB()-6-6B/6J-A14 6 | 16.5
PD8LB()-6-6B/6J-A14 16.5
PD10LB()-6-6B/6J-A14 | 10 | 17
PD15LB()-6-6B/6J-A14 | 15 | 19

ERs d L1
PD10R()-10-6B/6J-A14 | 10
PD15R()-10-6B/6J-A14 | 15 | 9
PD4L()-10-6B/6J-A14 4 | 135
PD6L()-10-6B/6J-A14 6 | 13.5
PD8L()-10-6B/6J-A14 13.5
PD10L()-10-6B/6J-A14 10 | 15.5
PD15L()-10-6B/6J-A14 15 | 15.5
PD10B()-10-6B/6J-A14 10 | 16
PD6LB()-10-6B/6J-A14 6 |16.5
PD8LB()-10-6B/6J-A14 8 |16.5
PD10LB()-10-6B/6J-A14 | 10 | 17
PD15LB()-10-6B/6J-A14 | 15 | 19

+—H1e

SI=

Ll




RS d L1
PD10R()-15-6B/6J-A14 | 10
PD15R()-15-6B/6J-A14 | 15
PD4L()-15-6B/6J-A14 13.5
PD6L()-15-6B/6J-A14 13.5
PD8L()-15-6B/6J-A14 13.5
PD10L()-15-6B/6J-A14 | 10 | 15.5
PD15L()-15-6B/6J-A14 | 15 | 15.5
PD10B()-15-6B/6J-Al14 | 10 | 16
PD6LB()-15-6B/6J-Al4 16.5
PDSLB()-15-6B/6J-Al4 16.5
PD10LB()-15-6B/6J-A14 | 10 | 17
PD15LB()-15-6B/6J-A14 | 15 | 19

J

~ - H17
M14X1 1D

| [—S16

33

e 0

%HIS

947

D

Em
XN

W
@
RE

N
== | N2

[}
.

62

6
=
E

M4X0.7—

-

Ll

5 ERL

.
-~

H17
M14X1 v

33

iR O

I % L sie

347

(2}

Em
X9

(o]
[

us)

(o))
-
| |
| |

|

62

6
i
E
M4X0.7-

Ll




RS d L1
PD10R()-20-6B/6J-A14 | 10 | 8
PD15R()-20-6B/6J-A14 | 15 | 9
PD4L()-20-6B/6J-A14 4 | 135
PD6L()-20-6B/6J-A14 6 | 135
PD8L()-20-6B/6J-A14 13.5
PD10L()-20-6B/6J-A14 | 10 | 155
PD15L()-20-6B/6J-A14 | 15 | 155
PD10B()-20-6B/6J-Al4 10 | 16
PD6LB()-20-6B/6J-A14 16.5
PDSLB()-20-6B/6J-A14 16.5
PD10LB()-20-6B/6J-A14 | 10 | 17
PD15LB()-20-6B/6J-A14 | 15 | 19

Al
J ’7
-1 [ : 1}HN

‘ MI4X1 3

]

44

o
|

78

L1

44

78

L1




ERs d L1

PD20A()-6-6J/6B-A14 20 | 11

PD10AAG()-6-6J/6B-A14 | 10 | 11

PD15AAG()-6-6J/6B-A14 15| 11

PD20AAG()-6-6J/6B-A14 | 20 | 13.5

PD10BAG()-6-6J/6B-A14 10 | 11

PD15BAG()-6-6J/6B-A14 15| 11

47

PD20BAG()-6-6J/6B-A14 | 20 | 13.5

PD25AG()-6-6J/6B-Al4 25 | 19.3

[

PD30AG()-6-6J/6B-A14 30 | 19.3

PD30BAG()-6-6J/6B-A14 | 30 | 16.3

PD40AG()-6-6J/6B-Al4 40 | 19.3

PD50AG()-6-6J/6B-A14 | 50 | 19.3

PD20BF()-6-6J/6B-A14 20 | 12.5

PD25F()-6-6J/6B-A14 25 | 14

PD30F()-6-6J/6B-A14 30| 12

PD35F()-6-6J/6B-A14 35| 14

PD40F()-6-6J/6B-A14 40 | 14

PD50F()-6-6J/6B-A14 50 | 15

PD60F()-6-6J/6B-A14 60 | 21

PD80F()-6-6J/6B-A14 80 | 23 .
PD95F()-6-6J/6B-A14 95 | 23.5

PD30FO()-6-6J/6B-Al14 29 | 12

PD20L()-6-6J/6B-A14 20 | 17.2

PD30L()-6-6J/6B-A14 30 | 17.2

PD40L()-6-6J/6B-A14 40 | 17.2

PD20R()-6-6J/6B-A14 20 | 10 v
PD25R()-6-6J/6B-A14 25 | 11

PD30R()-6-6J/6B-A14 30 | 11

PD40R()-6-6J/6B-A14 40 | 14 -
PD50R()-6-6J/6B-A14 50 | 15




PD10ABG()-6-6J/6B-A14 | 10 | 17
PD15ABG()-6-6J/6B-A14 | 15 | 19.5
PD20BG()-6-6J/6B-A14 | 20 | 19.5
PD30BG()-6-6J/6B-A14 | 30 | 30.5
PD40BG()-6-6J/6B-A14 | 40 | 30.5
PD50BG()-6-6J/6B-A14 | 50 | 36.5
PD75BG()-6-6J/6B-A14 | 75 | 46
PD20B()-6-6J/6B-A14 20 | 19
PD30B()-6-6J/6B-A14 30 | 23
PD40B()-6-6J/6B-A14 40 | 30
PD50B()-6-6J/6B-A14 50 | 32
PD30J()-6-6J/6B-A14 30 | 18
PD35J()-6-6J/6B-A14 35 | 18
PD40J()-6-6J/6B-A14 40 | 18
PD50J()-6-6J/6B-A14 50 | 20
PD60J()-6-6J/6B-A14 60 | 25
PD70J()-6-6J/6B-A14 70 | 26
PD80J()-6-6J/6B-A14 80 | 26
PD20LB()-6-6J/6B-A14 20 | 22.2




PD5C()-6-6J/6B-Al4 13
PD7C()-6-6J/6B-Al4 13.5
PD10C()-6-6J/6B-A14 18.3
PD15C()-6-6J/6B-A14 15 | 26.1
PD18C()-6-6J/6B-A14 | 18.6 | 26.3
PD20C()-6-6J/6B-A14 20 | 26.3
PD30C()-6-6J/6B-A14 32 | 375
PD40C()-6-6J/6B-A14 42 46
PD60C()-6-6J/6B-A14 62 55
PD20W()-6-6J/6B-A14 | 20 25
PD30W()-6-6J/6B-A14 | 30 | 385
PD40W()-6-6J/6B-A14 | 40 45
PD50W()-6-6J/6B-A14 | 50 56
PD4x10E()-6-6J/6B-A14 | 4x10
PD4x20E()-6-6J/6B-Al4 | 4x20
PD4x30E()-6-6J/6B-A14 | 4x30
PD5x10E()-6-6J/6B-A14 | 5x10
PD5x20E()-6-6J/6B-Al4 | 5x20
PD5x30E()-6-6J/6B-A14 | 5x30 |
PD6xX10E()-6-6J/6B-Al4 | 6x10 |
PD6X20E()-6-6J/6B-A14 | 6x20
PD6x30E()-6-6J/6B-A14 | 6x30
PD8x20E()-6-6J/6B-Al4 | 8x20
PD8x30E()-6-6J/6B-A14 | 8x30




ERs d L1

PD10AAG()-10-6J/6B-A14 10 | 11

PD15AAG()-10-6J/6B-A14 15 | 11

PD20AAG()-10-6J/6B-A14 | 20 | 13.5

PD10BAG()-10-6J/6B-A14 10 | 11

PD15BAG()-10-6J/6B-A14 15 | 11

PD20BAG()-10-6J/6B-A14 | 20 | 13.5

PD25AG()-10-6J/6B-A14 25 | 193

PD30AG()-10-6J/6B-A14 30 | 19.3

PD30BAG()-10-6J/6B-A14 | 30 | 16.3

PD40AG()-10-6J/6B-A14 40 | 19.3

PD50AG()-10-6J/6B-A14 50 | 19.3

PD20BF()-10-6J/6B-A14 20 | 12.5

PD25F()-10-6/6B-A14 25 | 14
PD30F()-10-6/6B-A14 30 | 12 &
PD35F()-10-6J/6B-A14 35 | 14 e
PD40F()-10-6J/6B-A14 40 | 14 MF—se |
PD50F()-10-6J/6B-A14 50 | 15 : e
PD60F()-10-6J/6B-A14 60 | 21 ..
PD8OF()-10-6J/6B-A14 80 | 23 st =1k
PDO5F()-10-6J/6B-A14 95 | 235

L1

PD25FO()-10-6J/6B-A14 25 | 14

PD30FO()-10-6J/6B-A14 29 | 12

PD35FO()-10-6J/6B-A14 35 | 12

PD40FO()-10-6J/6B-A14 40 | 14 -
PD20L()-10-6J/6B-A14 20 | 17.2 h
PD30L()-10-6J/6B-A14 30 | 17.2 il | I
PD40L()-10-6J/6B-A14 40 | 17.2 3 ki =
6 8 J”{*} T e
PD20R()-10-6J/6B-A14 20 | 10 | o
PD25R()-10-6J/6B-A14 25 | 11 t ! -
PD30R()-10-6J/6B-A14 30 | 11 L o0 |
PD40R()-10-6J/6B-A14 40 | 14
PD50R()-10-6J/6B-A14 50 | 15

10



PD20K()-10-6J/6B-A14 20 | 10
PD30K()-10-6J/6B-A14 30 | 12
PD40K()-10-6J/6B-A14 40 | 16
PD50K()-10-6J/6B-A14 50 | 17
PD20A()-10-6J/6B-A14 20 | 11
PD25A()-10-6J/6B-A14 25 | 12
PD30A()-10-6J/6B-A14 30 | 14
PD40A()-10-6J/6B-A14 40 | 175
PD50A()-10-6J/6B-A14 50 | 18
PD10ABG()-10-6J/6B-Al4 | 10 | 17
PD15ABG()-10-6J/6B-A14 | 15 | 19.5
PD20BG()-10-6J/6B-A14 20 | 19.5
PD30BG()-10-6J/6B-A14 30 | 305
PD40BG()-10-6J/6B-Al14 40 | 30.5
PD50BG()-10-6J/6B-A14 50 | 36.5
PD75BG()-10-6J/6B-A14 75 | 46
PD20B()-10-6J/6B-A14 20 | 19
PD30B()-10-6J/6B-A14 30 | 23
PD40B()-10-6J/6B-A14 40 | 30
PD50B()-10-6J/6B-A14 50 | 32
PD30J()-10-6J/6B-A14 30 | 18
PD35J()-10-6J/6B-A14 35 | 18
PD40J()-10-6J/6B-A14 40 | 18
PD50J()-10-6J/6B-A14 50 | 20
PD60J()-10-6J/6B-A14 60 | 25
PD70J()-10-6J/6B-A14 70 | 26
PD80J()-10-6J/6B-A14 80 | 26
PD20LB()-10-6J/6B-A14 20 | 22.2

11




PD5C()-10-6J/6B-A14 13
PD7C()-10-6J/6B-A14 13.5
PD10C()-10-6J/6B-Al14 18.3
PD15C()-10-6J/6B-A14 | 15 | 26.1
PD18C()-10-6J/6B-A14 | 18.6 | 26.3
PD20C()-10-6J/6B-A14 | 20 | 26.3
PD30C()-10-6J/6B-A14 | 32 | 37.5
PD40C()-10-6J/6B-A14 | 42 | 46
PD60C()-10-6J/6B-A14 | 62 | 55
PD20W()-10-6J/6B-A14 | 20 | 25
PD30W()-10-6J/6B-A14 | 30 | 38.5
PD40W()-10-6J/6B-A14 | 40 | 45
PD50W()-10-6J/6B-A14 | 50 | 56
PD4x10E()-10-6J/6B-A14 | 4x10
PD4x20E()-10-6J/6B-A14 | 4x20
PD4x30E()-10-6J/6B-A14 | 4x30
PD5x10E()-10-6J/6B-A14 | 5x10
PD5x20E()-10-6J/6B-A14 | 5x20
PD5x30E()-10-6J/6B-A14 | 5x30
PD6x10E()-10-6J/6B-A14 | 6x10
PD6x20E()-10-6J/6B-A14 | 6x20
PD6x30E()-10-6J/6B-A14 | 6x30
PD8x20E()-10-6J/6B-A14 | 8x20
PD8x30E()-10-6J/6B-A14 | 8x30

12

6B ~
™ <
ISy =

-

B6-;
6.

J A
— I MeX1
\91: i)
a. T

—

28

Hil|[=—S16

i =2

+—H1p

53

L1




Uies) d | L1
PD10AAG()-15-6J/6B-A14 | 10 | 11
PD15AAG()-15-6J/6B-A14 | 15 | 11
PD20AAG()-15-6J/6B-A14 | 20 | 13.5
PD10BAG()-15-6J/6B-A14 | 10 | 11
PD15BAG()-15-6J/6B-A14 | 15 | 11
PD20BAG()-15-6J/6B-A14 | 20 | 13.5
PD25AG()-15-6J/6B-A14 25 | 19.3
PD30AG()-15-6J/6B-A14 30 [19.3
PD30BAG()-15-6J/6B-A14 | 30 | 16.3
PD40AG()-15-6J/6B-A14 40 | 19.3
PD50AG()-15-6J/6B-A14 50 | 19.3
PD20BF()-15-6J/6B-A14 20 | 125
PD25F()-15-6J/6B-A14 25 | 14
PD30F()-15-6J/6B-A14 30 | 12
PD35F()-15-6J/6B-A14 35 | 14
PD40F()-15-6J/6B-A14 40 | 14
PD50F()-15-6J/6B-A14 50 | 15
PD60F()-15-6J/6B-A14 60 | 21
PD80F()-15-6J/6B-A14 80 | 23
PD95F()-15-6J/6B-A14 95 | 23.5
PD25FO()-15-6J/6B-A14 25 | 14
PD30FO()-15-6J/6B-A14 29 | 12
PD35FO()-15-6J/6B-A14 35| 12
PD40FO()-15-6J/6B-A14 40 | 14
PD20L()-15-6J/6B-A14 20 | 17.2
PD30L()-15-6J/6B-A14 30 | 17.2
PD40L()-15-6J/6B-A14 40 | 17.2
PD20R()-15-6J/6B-A14 20 | 10
PD25R()-15-6J/6B-A14 25 | 11
PD30R()-15-6J/6B-A14 30 | 11
PD40R()-15-6J/6B-A14 40 | 14
PD50R()-15-6J/6B-A14 50 | 15

13

H=—S16

T 2

——H1?

|

63

L1

33

63

Ll




PD20K()-15-6J/6B-A14 | 20 | 10
PD30K()-15-6J/6B-A14 | 30 | 12
PD40K()-15-6J/6B-A14 | 40 | 16
PD50K()-15-6J/6B-A14 | 50 | 17
PD20A()-15-6J/6B-A14 | 20 | 11
PD25A()-15-6J/6B-A14 | 25 | 12
PD30A()-15-6J/6B-A14 | 30 | 14
PD40A()-15-6J/6B-A14 | 40 | 17.5
PD50A()-15-6J/6B-A14 | 50 | 18
PD10ABG()-15-6J/6B-A14 | 10 | 17
PD15ABG()-15-6J/6B-A14 | 15 | 19.5
PD20BG()-15-6J/6B-A14 | 20 | 19.5
PD30BG()-15-6J/6B-A14 | 30 | 30.5
PD40BG()-15-6J/6B-A14 | 40 | 30.5
PD50BG()-15-6J/6B-A14 | 50 | 36.5
PD75BG()-15-6J/6B-A14 | 75 | 46
PD20B()-15-6J/6B-A14 20 | 19
PD30B()-15-6J/6B-A14 30 | 23
PD40B()-15-6J/6B-A14 40 | 30
PD50B()-15-6J/6B-A14 50 | 32
PD30J()-15-6J/6B-A14 30 | 18
PD35J()-15-6J/6B-A14 35 | 18
PD40J()-15-6J/6B-A14 40 | 18
PD50J()-15-6J/6B-A14 50 | 20
PD60J()-15-6J/6B-A14 60 | 25
PD70J()-15-6J/6B-A14 70 | 26
PD80J()-15-6J/6B-A14 80 | 26
PD20LB()-15-6J/6B-A14 20 | 22.2

14




PD5C()-15-6J/6B-A14 13
PD7C()-15-6J/6B-A14 13.5
PD10C()-15-6J/6B-Al14 18.3
PD15C()-15-6J/6B-A14 | 15 |26.1
PD18C()-15-6J/6B-A14 | 18.6 | 26.3
PD20C()-15-6J/6B-A14 | 20 |26.3
PD30C()-15-6J/6B-Al4 | 32 |37.5
PD40C()-15-6J/6B-A14 | 42 | 46
PD60C()-15-6J/6B-A14 | 62 | 55
PD20W()-15-6J/6B-A14 | 20 | 25
PD30W()-15-6J/6B-A14 | 30 |38.5
PD40W()-15-6J/6B-A14 | 40 | 45
PD50W()-15-6J/6B-A14 | 50 | 56

PD4x10E()-15-6J/6B-A14

4x10

PD4x20E()-15-6J/6B-A14

4x20

PD4x30E()-15-6J/6B-A14

4x30

PD5x10E()-15-6J/6B-A14

5x10

PD5x20E()-15-6J/6B-A14

5x20

PD5x30E()-15-6J/6B-A14

5x30

PD6x10E()-15-6J/6B-A14

6x10

PD6x20E()-15-6J/6B-A14

6x20

PD6x30E()-15-6J/6B-A14

6x30

PD8x20E()-15-6J/6B-A14

8x20

PD8x30E()-15-6J/6B-A14

8x30

15

HL7
M14X1

25
33

Hi[=—S16

i 2

—H1?

63

Ll




RS d | L1
PD10AAG()-20-6J/6B-A14 | 10 | 11
PD15AAG()-20-6J/6B-A14 | 15 | 11
PD20AAG()-20-6J/6B-A14 | 20 | 13.5
PD10BAG()-20-6J/6B-A14 | 10 | 11
PD15BAG()-20-6J/6B-A14 | 15 | 11
PD20BAG()-20-6J/6B-A14 | 20 | 13.5
PD25AG()-20-6J/6B-A14 | 25 | 19.3
PD30AG()-20-6J/6B-A14 | 30 | 19.3
PD30BAG()-20-6J/6B-A14 | 30 | 16.3
PD40AG()-20-6J/6B-A14 | 40 | 19.3
PD50AG()-20-6J/6B-A14 | 50 | 19.3
PD20BF()-20-6J/6B-A14 | 20 | 12.5
PD25F()-20-6J/6B-A14 25 | 14
PD30F()-20-6J/6B-A14 30| 12
PD35F()-20-6J/6B-A14 35| 14
PD40F()-20-6J/6B-A14 40 | 14
PD50F()-20-6J/6B-A14 50 | 15
PD60F()-20-6J/6B-A14 60 | 21
PD8OF()-20-6J/6B-A14 80 | 23
PDI5F()-20-6J/6B-A14 95 | 23.5
PD25FO()-20-6J/6B-A14 | 25| 14
PD30FO()-20-6J/6B-A14 |29 | 12
PD35F0O()-20-6J/6B-Al14 | 35| 12
PD40FO()-20-6J/6B-A14 | 40 | 14
PD20L()-20-6J/6B-A14 20 | 17.2
PD30L()-20-6J/6B-A14 30 | 17.2
PD40L()-20-6J/6B-A14 40 | 17.2
PD20R()-20-6J/6B-A14 20 | 10
PD25R()-20-6J/6B-A14 25| 11
PD30R()-20-6J/6B-A14 30| 11
PD40R()-20-6J/6B-A14 | 40 | 14
PD50R()-20-6J/6B-A14 50 | 15

16

J
44

||[F—ste

i

+—H12

79

Ll

J
44

S

79

Ll




79

[|[~—s16

&

+—H12

PD20K()-20-6J/6B-A14 | 20 | 10

PD30K()-20-6J/6B-A14 | 30 | 12

PD40K()-20-6J/6B-A14 | 40 | 16

PD50K()-20-6J/6B-A14 | 50 | 17

PD20A()-20-6J/6B-A14 | 20 | 11

PD25A()-20-6J/6B-A14 | 25 | 12

PD30A()-20-6J/6B-A14 | 30 | 14

PD40A()-20-6J/6B-A14 | 40 | 17.5
PD50A()-20-6J/6B-A14 | 50 | 18

PD10ABG()-20-6J/6B-A14 | 10 | 17
PD15ABG()-20-6J/6B-A14 | 15 | 19.5
PD20BG()-20-6J/6B-A14 | 20 | 19.5
PD30BG()-20-6J/6B-A14 | 30 | 30.5
PD40BG()-20-6J/6B-A14 | 40 | 30.5
PD50BG()-20-6J/6B-A14 | 50 | 36.5
PD75BG()-20-6J/6B-A14 | 75 | 46
PD20B()-20-6J/6B-A14 20 | 19
PD30B()-20-6J/6B-A14 30 | 23
PD40B()-20-6J/6B-A14 40 | 30
PD50B()-20-6J/6B-A14 50 | 32
PD30J()-20-6J/6B-A14 30 | 18
PD35J()-20-6J/6B-A14 35 | 18
PD40J()-20-6J/6B-A14 40 | 18
PD50J()-20-6J/6B-A14 50 | 20
PD60J()-20-6J/6B-A14 60 | 25
PD70J()-20-6J/6B-Al14 70 | 26
PD80J()-20-6J/6B-A14 80 | 26
PD20LB()-20-6J/6B-A14 | 20 | 22.2

17

L1




«”f'iﬁ
PD5C()-20-6J/6B-A14 13 MHZ: o
PD7C()-20-6J/6B-A14 13.5 AL
PD10C()-20-6J/6B-A14 9 |[183 -
PD15C()-20-6J/6B-A14 | 15 | 26.1 g e "
PD18C()-20-6J/6B-A14 | 18.6 | 26.3
PD20C()-20-6J/6B-A14 20 | 26.3 6B . i S
PD30C()-20-6J/6B-A14 | 32 | 37.5 ;{% f
PD40C()-20-6J/6B-A14 42 | 46 6 B“’i’@’%ﬂ T
PD60C()-20-6J/6B-A14 | 62 | 55 | < "' (2 3
PD20W()-20-6J/6B-A14 | 20 | 25 ; )
PD30W()-20-6J/6B-A14 | 30 | 38.5 o
PD40W()-20-6J/6B-A14 | 40 | 45 L
PD50W()-20-6J/6B-A14 | 50 | 56 3
ofe]
17—
PD4x10E()-20-6J/6B-A14 | 4x10 M14X1— 3
PD4x20E()-20-6J/6B-Al4 | 4x20 J v
PD4x30E()-20-6J/6B-A14 | 4x30 A
PD5x10E()-20-6J/6B-A14 | 5x10 - sie |
PD5x20E()-20-6J/6B-A14 | 5x20 2
PD5x30E()-20-6J/6B-A14 | 5x30 . i J iR S
PD6x10E()-20-6J/6B-A14 | 6x10 %E%ﬂ &
PD6x20E()-20-6J/6B-A14 | 6x20 N Bﬁ‘jr; L%mg
PD6x30E()-20-6/6B-A14 | 6x30 | m@ M6 x1—==f |
PD8x20E()-20-6J/6B-A14 | 8x20 i = ﬂi -
PD8X30E()-20-6J/6B-A14 | 8x30
> x
Y

18



Uhs) d | L1
PD10AAG()-20-6J/6B-A14-C | 10 | 11
PD15AAG()-20-6J/6B-A14-C | 15 | 11
PD20AAG()-20-6J/6B-A14-C | 20 | 13.5
PD10BAG()-20-6J/6B-A14-C | 10 | 11
PD15BAG()-20-6J/6B-A14-C | 15 | 11
PD20BAG()-20-6J/6B-A14-C | 20 | 13.5
PD25AG()-20-6J/6B-A14-C | 25 | 19.3
PD30AG()-20-6J/6B-A14-C | 30 | 19.3
PD30BAG()-20-6J/6B-A14-C | 30 | 16.3
PD40AG()-20-6J/6B-A14-C | 40 | 19.3
PD50AG()-20-6J/6B-A14-C | 50 | 19.3
PD20BF()-20-6J/6B-A14-C | 20 | 12.5
PD25F()-20-6J/6B-A14-C 25| 14
PD30F()-20-6J/6B-A14-C 30| 12
PD35F()-20-6J/6B-A14-C 35| 14
PD40F()-20-6J/6B-A14-C 40 | 14
PD50F()-20-6J/6B-A14-C 50 | 15
PD60F()-20-6J/6B-A14-C 60 | 21
PD80F()-20-6J/6B-A14-C 80| 23
PD95F()-20-6J/6B-A14-C 95 | 23.5
PD25FO()-20-6J/6B-A14-C | 25 | 14
PD30FO()-20-6J/6B-A14-C | 29 | 12
PD35FO()-20-6J/6B-A14-C | 35 | 12
PD40FO()-20-6J/6B-A14-C | 40 | 14
PD20L()-20-6J/6B-A14-C 20 | 17.2
PD30L()-20-6J/6B-A14-C 30| 17.2
PD40L()-20-6J/6B-A14-C 40 | 17.2
PD20R()-20-6J/6B-A14-C 20 | 10
PD25R()-20-6J/6B-A14-C 25 | 11
PD30R()-20-6J/6B-A14-C 30| 11
PD40R()-20-6J/6B-A14-C 40 | 14
PD50R()-20-6J/6B-A14-C 50 | 15

19

58.5

L1l




PD20K()-20-6J/6B-A14-C 20 10

PD30K()-20-6J/6B-A14-C | 30 | 12

PD40K()-20-6J/6B-A14-C | 40 | 16

PD50K()-20-6J/6B-A14-C 50 17

PD20A()-20-6J/6B-A14-C | 20 | 11

PD25A()-20-6J/6B-A14-C | 25 | 12

PD30A()-20-6J/6B-A14-C | 30 | 14

PD40A()-20-6J/6B-A14-C 40 | 17.5

PD50A()-20-6J/6B-A14-C 50 18

PD10ABG()-20-6J/6B-A14-C 10 | 17

PD15ABG()-20-6J/6B-A14-C 15| 195

PD20BG()-20-6J/6B-A14-C | 20 | 19.5

PD30BG()-20-6J/6B-A14-C | 30 | 30.5

PD40BG()-20-6J/6B-A14-C | 40 | 30.5

PD50BG()-20-6J/6B-A14-C | 50 | 36.5

585

PD75BG()-20-6J/6B-A14-C | 75 | 46

PD20B()-20-6J/6B-A14-C 20 | 19

L1

PD30B()-20-6J/6B-A14-C |30 | 23

PD40B()-20-6J/6B-A14-C 40 | 30

PD50B()-20-6J/6B-A14-C 50 | 32

PD30J()-20-6J/6B-A14-C 30| 18

PD35J()-20-6J/6B-A14-C 35| 18

PD40J()-20-6J/6B-A14-C 40 | 18

PD50J()-20-6J/6B-A14-C 50 | 20

PD60J()-20-61/6B-A14-C 60 | 25

PD70J()-20-6J/6B-A14-C 70 | 26

PD80J()-20-6J/6B-A14-C 80 | 26

PD20LB()-20-6J/6B-A14-C | 20 | 22.2

20



PD5C()-20-6J/6B-A14-C 13
PD7C()-20-6J/6B-A14-C 13.5
PD10C()-20-6J/6B-A14-C 18.3
PD15C()-20-6J/6B-A14-C | 15 | 26.1
PD18C()-20-6J/6B-A14-C | 18.6 | 26.3
PD20C()-20-6J/6B-A14-C | 20 | 26.3
PD30C()-20-6J/6B-A14-C | 32 | 37.5
PD40C()-20-6J/6B-A14-C | 42 | 46
PD60C()-20-6J/6B-A14-C | 62 | 55
PD20W()-20-6J/6B-A14-C | 20 | 25
PD30W()-20-6J/6B-A14-C | 30 | 38.5
PD40W()-20-6J/6B-A14-C | 40 | 45
PD50W()-20-6J/6B-A14-C | 50 | 56
PD4x10E()-20-6J/6B-A14-C | 4x10
PD4x20E()-20-6J/6B-A14-C | 4x20
PD4x30E()-20-6J/6B-A14-C | 4x30
PD5x10E()-20-6J/6B-A14-C | 5x10
PD5x20E()-20-6J/6B-A14-C | 5x20
PD5x30E()-20-6J/6B-A14-C | 5x30
PD6x10E()-20-6J/6B-A14-C | 6x10
PD6x20E()-20-6J/6B-A14-C | 6x20
PD6x30E()-20-6J/6B-A14-C | 6x30
PD8x20E()-20-6J/6B-A14-C | 8x20
PD8x30E()-20-6J/6B-A14-C | 8x30

21

585

695

1




Uhs) d | L1
PD10AAG()-30-6J/6B-A14-C 10 | 11
PD15AAG()-30-6J/6B-A14-C 15 | 11
PD20AAG()-30-6J/6B-A14-C 20 | 135
PD10BAG()-30-6J/6B-A14-C 10 | 11
PD15BAG()-30-6J/6B-A14-C 15 | 11
PD20BAG()-30-6J/6B-A14-C 20 | 135
PD25AG()-30-6J/6B-A14-C | 25 | 19.3
PD30AG()-30-6J/6B-A14-C | 30 | 19.3
PD30BAG()-30-6J/6B-A14-C 30 | 16.3
PD40AG()-30-6J/6B-A14-C | 40 | 19.3
PD50AG()-30-6J/6B-A14-C | 50 | 19.3
PD20BF()-30-6J/6B-A14-C | 20 | 12.5
PD25F()-30-6J/6B-A14-C 25 | 14
PD30F()-30-6J/6B-A14-C 30 | 12
PD35F()-30-6J/6B-A14-C 35 | 14
PD40F()-30-6J/6B-A14-C 40 | 14
PD50F()-30-6J/6B-A14-C 50 | 15
PD60F()-30-6J/6B-A14-C 60 | 21
PD80F()-30-6J/6B-A14-C 80 | 23
PD95F()-30-6J/6B-A14-C 95 | 23.5
PD25FO()-30-6J/6B-A14-C | 25 | 14
PD30FO()-30-6J/6B-A14-C | 29 | 12
PD35FO()-30-6J/6B-A14-C | 35 | 12
PD40FO()-30-6J/6B-A14-C | 40 | 14
PD20L()-30-6J/6B-A14-C 20 | 17.2
PD30L()-30-6J/6B-A14-C 30 | 17.2
PD40L()-30-6J/6B-A14-C 40 | 17.2
PD20R()-30-6J/6B-A14-C 20 | 10
PD25R()-30-6J/6B-A14-C 25 | 11
PD30R()-30-6J/6B-A14-C 30 | 11
PD40R()-30-6J/6B-A14-C 40 | 14
PD50R()-30-6J/6B-A14-C 50 | 15

22

L1

715

L1

715

L1




PD20K()-30-6J/6B-A14-C | 20 | 10
PD30K()-30-6J/6B-A14-C | 30 | 12
PD40K()-30-6J/6B-A14-C | 40 | 16
PD50K()-30-6J/6B-A14-C | 50 | 17
PD20A()-30-6J/6B-A14-C | 20 | 11
PD25A()-30-6J/6B-A14-C | 25 | 12
PD30A()-30-6J/6B-A14-C | 30 | 14
PD40A()-30-6J/6B-A14-C | 40 | 17.5
PD50A()-30-6J/6B-A14-C | 50 | 18
PD10ABG()-30-6J/6B-A14-C 10 17
PD15ABG()-30-6J/6B-A14-C 15 | 19.5
PD20BG()-30-6J/6B-A14-C | 20 | 19.5
PD30BG()-30-6J/6B-A14-C | 30 | 30.5
PD40BG()-30-6J/6B-A14-C | 40 | 30.5
PD50BG()-30-6J/6B-A14-C | 50 | 36.5
PD75BG()-30-6J/6B-A14-C | 75 | 46
PD20B()-30-6J/6B-A14-C 20 | 19
PD30B()-30-6J/6B-A14-C 30 | 23
PD40B()-30-6J/6B-A14-C 40 | 30
PD50B()-30-6J/6B-A14-C 50 | 32
PD30J()-30-6J/6B-A14-C 30 | 18
PD35J()-30-6J/6B-A14-C 35 | 18
PD40J()-30-6J/6B-A14-C 40 | 18
PD50J()-30-6J/6B-A14-C 50 | 20
PD60J()-30-6J/6B-A14-C 60 | 25
PD70J()-30-6J/6B-A14-C 70 | 26
PD80J()-30-6J/6B-A14-C 80 | 26
PD20LB()-30-6J/6B-A14-C | 20 | 22.2

23




715

Ll

PD5C()-30-6J/6B-A14-C 13
PD7C()-30-6J/6B-A14-C 13.5
PD10C()-30-6J/6B-A14-C 18.3
PD15C()-30-6J/6B-A14-C | 15 |26.1
PD18C()-30-6J/6B-A14-C | 18.6 | 26.3
PD20C()-30-6J/6B-A14-C | 20 |26.3
PD30C()-30-6J/6B-A14-C | 32 |37.5
PD40C()-30-6J/6B-A14-C | 42 | 46
PD60C()-30-6J/6B-A14-C | 62 | 55
PD20W()-30-6J/6B-A14-C | 20 | 25
PD30W()-30-6J/6B-A14-C | 30 |38.5
PD40W()-30-6J/6B-A14-C | 40 | 45
PD50W()-30-6J/6B-A14-C | 50 | 56
PD4x10E()-30-6J/6B-A14-C | 4x10
PD4x20E()-30-6J/6B-A14-C | 4x20
PD4x30E()-30-6J/6B-A14-C | 4x30
PD5x10E()-30-6J/6B-A14-C | 5x10
PD5x20E()-30-6J/6B-A14-C | 5x20
PD5x30E()-30-6J/6B-A14-C | 5x30
PD6x10E()-30-6J/6B-A14-C | 6x10
PD6x20E()-30-6J/6B-A14-C | 6x20
PD6X30E()-30-6J/6B-A14-C | 6x30
PD8x20E()-30-6J/6B-A14-C | 8x20
PD8X30E()-30-6J/6B-A14-C | 8x30

24




ol d | L1
PD10AAG()-40-6J/6B-A14-C | 10 | 11
PD15AAG()-40-6J/6B-A14-C | 15 | 11
PD20AAG()-40-6J/6B-A14-C | 20 | 13.5
PD10BAG()-40-6J/6B-A14-C | 10 | 11
PD15BAG()-40-6J/6B-A14-C | 15 | 11
PD20BAG()-40-6J/6B-A14-C | 20 | 13.5
PD25AG()-40-6J/6B-A14-C | 25 | 19.3
PD30AG()-40-6J/6B-A14-C | 30 | 19.3
PD30BAG()-40-6J/6B-A14-C | 30 | 16.3
PD40AG()-40-6J/6B-A14-C | 40 | 19.3
PD50AG()-40-6J/6B-A14-C | 50 | 19.3
PD20BF()-40-6J/6B-A14-C | 20 | 12.5
PD25F()-40-6J/6B-A14-C 25 | 14
PD30F()-40-6J/6B-A14-C 30 | 12
PD35F()-40-6J/6B-A14-C 35 | 14
PD40F()-40-6J/6B-A14-C 40 | 14
PD50F()-40-6J/6B-A14-C 50 | 15
PD60F()-40-6J/6B-A14-C 60 | 21
PD80F()-40-6J/6B-A14-C 80 | 23
PD95F()-40-6J/6B-A14-C 95 | 23.5
PD25FO()-40-6J/6B-A14-C | 25 | 14
PD30FO()-40-6J/6B-A14-C | 29 | 12
PD35FO()-40-6J/6B-A14-C | 35 | 12
PD40FO()-40-6J/6B-A14-C | 40 | 14
PD20L()-40-6J/6B-A14-C 20 | 17.2
PD30L()-40-6J/6B-A14-C 30 | 17.2
PD40L()-40-6J/6B-A14-C 40 | 17.2
PD20R()-40-6J/6B-A14-C 20 | 10
PD25R()-40-6J/6B-A14-C 25 | 11
PD30R()-40-6J/6B-A14-C 30 | 11
PD40R()-40-6J/6B-A14-C 40 | 14
PD50R()-40-6J/6B-A14-C 50 | 15

25

845

L1

845




84.5

L1

PD20K()-40-6J/6B-A14-C | 20 | 10
PD30K()-40-6J/6B-A14-C | 30 | 12
PD40K()-40-6J/6B-A14-C | 40 | 16
PD50K()-40-6J/6B-A14-C | 50 | 17
PD20A()-40-6J/6B-A14-C | 20 | 11
PD25A()-40-6J/6B-A14-C | 25 | 12
PD30A()-40-6J/6B-A14-C | 30 | 14
PD40A()-40-6J/6B-A14-C | 40 | 17.5
PD50A()-40-6J/6B-A14-C | 50 | 18
PD10ABG()-40-6J/6B-A14-C | 10 | 17
PD15ABG()-40-6J/6B-A14-C | 15 | 19.5
PD20BG()-40-6J/6B-A14-C | 20 | 19.5
PD30BG()-40-6J/6B-A14-C | 30 | 30.5
PD40BG()-40-6J/6B-A14-C | 40 | 30.5
PD50BG()-40-6J/6B-A14-C | 50 | 36.5
PD75BG()-40-6J/6B-A14-C | 75 | 46
PD20B()-40-6J/6B-A14-C 20 | 19
PD30B()-40-6J/6B-A14-C 30 | 23
PD40B()-40-6J/6B-A14-C 40 | 30
PD50B()-40-6J/6B-A14-C 50 | 32
PD30J()-40-6J/6B-A14-C 30 | 18
PD35J()-40-6J/6B-A14-C 35 | 18
PD40J()-40-6J/6B-A14-C 40 | 18
PD50J()-40-6J/6B-A14-C 50 | 20
PD60J()-40-6J/6B-A14-C 60 | 25
PD70J()-40-6J/6B-A14-C 70 | 26
PD80J()-40-6J/6B-A14-C 80 | 26
PD20LB()-40-6J/6B-A14-C 20 | 22.2

84.5

26

L1




PD5C()-40-6J/6B-A14-C 13
PD7C()-40-6J/6B-A14-C 13.5
PD10C()-40-6J/6B-A14-C 18.3
PD15C()-40-6J/6B-A14-C | 15 | 26.1
PD18C()-40-6J/6B-A14-C | 18.6 | 26.3
PD20C()-40-6J/6B-A14-C | 20 | 26.3
PD30C()-40-6J/6B-A14-C | 32 | 37.5
PD40C()-40-6J/6B-A14-C | 42 | 46
PD60C()-40-6J/6B-A14-C | 62 | 55
PD20W()-40-6J/6B-A14-C | 20 | 25
PD30W()-40-6J/6B-A14-C | 30 | 38.5
PD40W()-40-6J/6B-A14-C | 40 | 45
PD50W()-40-6J/6B-A14-C | 50 | 56
PD4x10E()-40-6J/6B-A14-C | 4x10
PD4x20E()-40-6J/6B-A14-C | 4x20
PD4x30E()-40-6J/6B-A14-C | 4x30
PD5x10E()-40-6J/6B-A14-C | 5x10
PD5x20E()-40-6J/6B-A14-C | 5x20
PD5x30E()-40-6J/6B-A14-C | 5x30
PD6x10E()-40-6J/6B-A14-C | 6x10
PD6x20E()-40-6J/6B-A14-C | 6x20
PD6xX30E()-40-6J/6B-A14-C | 6x30
PD8x20E()-40-6J/6B-A14-C | 8x20
PD8x30E()-40-6J/6B-A14-C | 8x30

27

84.5

955

11




#l 2 d | L1
PD10AAG()-50-6J/6B-A14-C | 10 | 11
PD15AAG()-50-6J/6B-A14-C | 15 | 11
PD20AAG()-50-6J/6B-A14-C | 20 | 13.5
PD10BAG()-50-6J/6B-A14-C | 10 | 11
PD15BAG()-50-6J/6B-A14-C | 15| 11
PD20BAG()-50-6J/6B-A14-C | 20 | 13.5
PD25AG()-50-6J/6B-A14-C | 25 | 19.3
PD30AG()-50-6J/6B-A14-C | 30 | 19.3
PD30BAG()-50-6J/6B-A14-C | 30 | 16.3
PD40AG()-50-6J/6B-A14-C | 40 | 19.3
PD50AG()-50-6J/6B-A14-C | 50 | 19.3
PD20BF()-50-6J/6B-A14-C 20 | 12.5
PD25F()-50-6J/6B-A14-C | 25 | 14
PD30F()-50-6J/6B-A14-C | 30 | 12
PD35F()-50-6J/6B-A14-C | 35 | 14
PD40F()-50-6J/6B-A14-C | 40 | 14
PD50F()-50-6J/6B-A14-C | 50 | 15
PD60F()-50-6J/6B-A14-C | 60 | 21
PD80F()-50-6J/6B-A14-C | 80 | 23
PD95F()-50-6J/6B-A14-C | 95 | 23.5
PD25FO()-50-6J/6B-A14-C | 25 | 14
PD30FO()-50-6J/6B-A14-C | 29 | 12
PD35FO()-50-6J/6B-A14-C | 35| 12
PD40FO()-50-6J/6B-A14-C | 40 | 14
PD20L()-50-6J/6B-A14-C | 20 | 17.2
PD30L()-50-6J/6B-A14-C | 30 | 17.2
PD40L()-50-6J/6B-A14-C | 40 | 17.2
PD20R()-50-6J/6B-A14-C | 20 | 10
PD25R()-50-6J/6B-A14-C | 25| 11
PD30R()-50-6J/6B-A14-C | 30 | 11
PD40R()-50-6J/6B-A14-C | 40 | 14
PD50R()-50-6J/6B-A14-C | 50 | 15

28




PD20K()-50-6J/6B-A14-C | 20 | 10
PD30K()-50-6J/6B-A14-C | 30 | 12
PD40K()-50-6J/6B-A14-C | 40 | 16
PD50K()-50-6J/6B-A14-C | 50 | 17
PD20A()-50-6J/6B-A14-C | 20 | 11
PD25A()-50-6J/6B-A14-C | 25 | 12
PD30A()-50-6J/6B-A14-C | 30 | 14
PD40A()-50-6J/6B-A14-C | 40 | 17.5
PD50A()-50-6J/6B-A14-C | 50 | 18
PD10ABG()-50-6J/6B-A14-C | 10 | 17
PD15ABG()-50-6J/6B-A14-C | 15 | 19.5
PD20BG()-50-6J/6B-A14-C | 20 | 19.5
PD30BG()-50-6J/6B-A14-C | 30 | 30.5
PD40BG()-50-6J/6B-A14-C | 40 | 30.5
PD50BG()-50-6J/6B-A14-C | 50 | 36.5
PD75BG()-50-6J/6B-A14-C | 75 | 46
PD20B()-50-6J/6B-A14-C | 20 | 19
PD30B()-50-6J/6B-A14-C | 30 | 23
PD40B()-50-6J/6B-A14-C | 40 | 30
PD50B()-50-6J/6B-A14-C | 50 | 32
PD30J()-50-6J/6B-A14-C | 30 | 18
PD35J()-50-6J/6B-A14-C | 35 | 18
PD40J()-50-6J/6B-A14-C | 40 | 18
PD50J()-50-6J/6B-A14-C | 50 | 20
PD60J()-50-6J/6B-A14-C | 60 | 25
PD70J()-50-6J/6B-A14-C | 70 | 26
PD80J()-50-6J/6B-A14-C | 80 | 26
PD20LB()-50-6J/6B-A14-C | 20 | 22.2

29




PD5C()-50-6J/6B-A14-C 13
PD7C()-50-6J/6B-A14-C 13.5
PD10C()-50-6J/6B-A14-C 18.3
PD15C()-50-6J/6B-A14-C | 15 | 26.1
PD18C()-50-6J/6B-A14-C | 18.6 | 26.3
PD20C()-50-6J/6B-A14-C | 20 | 26.3
PD30C()-50-6J/6B-A14-C | 32 | 37.5
PD40C()-50-6J/6B-A14-C | 42 | 46
PD60C()-50-6J/6B-A14-C | 62 | 55
PD20W()-50-6J/6B-A14-C | 20 | 25
PD30W/()-50-6J/6B-A14-C | 30 | 38.5
PD40W()-50-6J/6B-A14-C | 40 | 45
PD50W/()-50-6J/6B-A14-C | 50 | 56
PD4x10E()-50-6J/6B-A14-C | 4x10
PD4x20E()-50-6J/6B-A14-C | 4x20
PD4x30E()-50-6J/6B-A14-C | 4x30
PD5x10E()-50-6J/6B-A14-C | 5x10
PD5x20E()-50-6J/6B-A14-C | 5x20
PD5x30E()-50-6J/6B-A14-C | 5x30
PD6x10E()-50-6J/6B-A14-C | 6x10
PD6X20E()-50-6J/6B-A14-C | 6x20 | -
PD6x30E()-50-6J/6B-A14-C | 6x30 |
PD8x20E()-50-6J/6B-A14-C | 8x20
PD8x30E()-50-6J/6B-A14-C | 8x30

30

H17

=
%ﬁ
T
T
T o
% IRt
an
6B ~ =T
™ =< =T
< O —
yEdg, §
| L
B6-|- - —%J 14
6J ! |
E I Mex1 L
Noj
@[ !
— ‘ .
— —
od

H17——
M14X1

-
.
-
.
-
.
-
-
.
-
.
-
.
-
.
-
2

108.5




i d |L1 {1 | .

PD60R()-10-B01-A22 60 | 18 | A Mazx1

\ &
|
%, %886 -
U e | n
| 3
==
Gl/8—— — — 4 H1S
[?/ \
S
M10X1.5 -
\ ] }j [
|
P60
PD8OR()-10-B01-A22 80 | 23 I | .
PD100R()-10-B01-A22 | 100 | 25 | | weaxt &
|
PD80B()-10-B01-A22 80 | 39 % )

iTie

Se6
e

===
Gl/8—— — — - .

e

o

M10X1.5 lj

[

jule]

31



ST, B

M-PD 30 F|N - 15 H -6 -[A14-C
0@ ®® ® ©® @

OW A H AT (AR LS R 5 H)
QW B FAE CRAR LS R 5 FA)
OW LM ot CRAR LS R 51 F)
DITHE
OZNYEL I EEE g S
B L7 Uiy
Puidifik: 47 &1 RS 4x2.5) .

6] (1 R 6x4)
TSk 4BE T RS 4x2.5) .

6B (& 1 R~} 6x4)
ARk, WIRLL:

B3 (M3x0. 5)

B5 (M5x0. 8)

B6 (M6x1)

BO1(G1/8)

B02 (G1/4)
©) 2 BEH2 L A6 (M6%0. 75)

A8 (M8*0. 75)

A14 (M14%1)

A22 (M22x%1. 5)

A30 (M30%1. 5)
OIRANE N A, TR N E L.

1. ITEREELURENL I, WAk PSOFN, 4TFE 30, ANPlRlEE,
B RIS, W 6x4 B, dEIBRL M4, BEENE .
ﬁi%%jy. M-PD50FN-30-6B-A14

B 2. ITREELRENL I, WAk PSOFN, 1TFE 30, ANPlRlEE,
B O N IREL G1/8, ZAEMREI M22x1. 5, HFEANE
ﬁJ%%jJ. M-PDSOFN-30-B01-A22-C

3 ATHEEARN L, WALIEH] PSOFN, 177% 30, ANPs[nl%L,
o adiiesk, WHEAR 68 T, ZRIREMI4, FsRNE,
M5 Jy: M-PDSOFN-30-6]-A14

4 ATHEEARR I, WAEIEH] PBOFN, 4TFE 30, BilalF,
i ik, HEAR 6 8 T, 2RIRLMI, FERNE,
%5y M-PDSOFN-30H-6]-A14

32



n5 d

M-PD1.5AF()-3-4B/4J-A6 | 1.5

M-PD2AF()-3-4B/4J-A6 2

M-PD3.5AF()-3-4B/4J-A6 | 3.5

04
! _
=~—M3X0.5

M6-PD4J()-3-4B/4J-A6 % ~
]
| H8
o €L -
43 i ~—M6X0.75 | |
— | <
o0 " oe
4B 3

33



LS d| L1 "
M-PD5AF()-3-4B/4J-A6 | 5 | 6.5
M-PD6AF()-3-4B/4J-A6 | 6 | 6.5 3 "
M-PD8AF()-3-4B/4J-A6 |8 | 7 2 Mex0.75 | ©
)
[ ' = w 1 o
R
. k 5
4B i
M9-PD4J()-3-4B/4J-A6 )
M-PD6J()-3-4B/4J-A6 ,
ol H8
M-PD8J()-3-4B/4J-A6 8 DFE 0
4] i =—MEX0.75 Q
¢[ [ ‘_ N
|l

@
w
|
\
|

M-PD5C()-3-4B/4J-A6 5 | 95

M-PD7C()-3-4B/4J-A6 7 | 10
4 M6X0.75 &
/ \
g[ IR i ©
. k :
8

Ll

34



w5 d
M-PD1.5AF()-6-4B/4J-A6 | 1.5
M-PD2AF()-6-4B/4J-A6 2
M-PD3.5AF()-6-4B/4J-A6 | 3.5

M6-PD4J()-6-4B/4J-A6

35

23

N
<

I
N

94
r
|

J

S

%M3x05

e}

[ip]

%——M3><O5

H8
0

MEX0.75

17 0

—
@
10

AN

42

R
[o]el]
T
|
)
|
|
L
)
|
|
! HS
| Ip}
| 0
|
} M6X0.75
| n
m <
| i 0
|
L
|
|
|
-
I




ng

M-PD5AF()-6-4B/4J-A6

M-PD6AF()-6-4B/4J-A6

M-PD8AF()-6-4B/4J-A6

M9-PD4J()-6-4B/4J-A6

M-PD6J()-6-4B/4J-A6

M-PD8J()-6-4B/4J-A6

M-PD5C()-6-4B/4J-A6

M-PD7C()-6-4B/4J-A6

d| L1
5|65
6|65
8| 7
4]
g[ ' 1.
—
B3— —+
4B i
4
6
8
4
el —r
Fam
B3*73
9.5
10

B

w
|
\

36

~—M3X0.5

n
a

n
a

%——M3><O5

%——M3><O5

H8

[ip]
—

~—M6X0.75 | @

i

H

10

L1

1
&
S
~
al
38

i)
—

1T o

T
)
10

7

H8

L1




it Rss d | L1
M-PD5AF()-3-6B/6J-A8 5 | 6.5
M-PD6AF()-3-6B/6J-A8 6 | 6.5
M-PD8AF()-3-6B/6J-A8 8 | 7
M-PD10AF()-3-6B/6J-A8 | 10 | 7.5
M-PD15AF()-3-6B/6J-A8 | 15| 8
M-PD10AAG()-3-6B/6J-A8 | 10 | 7.5
M-PD10BAG()-3-6B/6J-A8 | 10 | 7.5
M-PD15AAG()-3-6B/6J-A8 | 15 | 7.5
M-PD15BAG()-3-6B/6J-A8 | 15 | 7.5
M-PD20AAG()-3-6B/6J-A8 | 20 | 10
M-PD20BAG()-3-6B/6J-A8 | 20 | 10
M-PD10ABG()-3-6B/6J-A8 | 10 | 13.5 :
M-PD15ABG()-3-6B/6J-A8 | 15 | 16 o

M-PD4J()-3-6B/6J-A8

M-PD6J()-3-6B/6J-A8

M-PD8J()-3-6B/6J-A8

M5X0.8

B5-+--

M5X0.8

37

‘
‘

; HI2 o
!

1

|

| ~—M8X0.75

‘

|

23

48

23

48

|
|

| H12 o
|

|

| ~—M8X0.75

|

|

; CIER
|

1

|

| |—Max07s

23

48




M-PD5C()-3-6B/6J-A8 9.5
M-PD7C()-3-6B/6J-A8 10
i d | L1
M-PD5AF()-10-6B/6J-A8 5 |65
M-PD6AF()-10-6B/6J-A8 6 |65
M-PD8AF()-10-6B/6J-A8 8 | 7
M-PD10AF()-10-6B/6J-A8 | 10 | 7.5
M-PD15AF()-10-6B/6J-A8 | 15 | 8
M-PD10AAG()-10-6B/6J-A8 | 10 | 7.5
M-PD10BAG()-10-6B/6J-A8 | 10 | 7.5
M-PD15AAG()-10-6B/6J-A8 | 15 | 7.5
M-PD15BAG()-10-6B/6J-A8 | 15 | 7.5
M-PD20AAG()-10-6B/6J-A8 | 20 | 10
M-PD20BAG()-10-6B/6J-A8 | 20 | 10

38

6J

1
; H
|
1
|
} ~=—MB8X0

12 4

75

23

48

L1

—=
|

]
|
l
]
]
]
|
]
]
| =—MsXx

HI2 o

0.75

23

T

TR

10

13

55

L1




M-PD10ABG()-10-6B/6J-A8 | 10 | 13.5
M-PD15ABG()-10-6B/6J-A8 | 15 | 16
M-PD4J()-10-6B/6J-A8
M-PD6J()-10-6B/6J-A8
M-PD8J()-10-6B/6J-A8
M-PD5C()-10-6B/6J-A8 9.5
M-PD7C()-10-6B/6J-A8 10

39

| o
‘
\
\
3
| M2 o
‘ R
‘
i L—Mex0.75
)
‘ 2
1
‘
|
| Fr O
| 11H 2
|
‘
3
73 H10 o
3
|
|
I [N
J
|
|
|
3
o \ HI2 o
| &
|
| [-—Mexo7s
7] g
|
L
\
l
‘
! S
\
\
l
@ |
R
i n
i T S— -
! H10 o
B5-—+-+-
6B | ‘
e \ g )
ol
|
|
I (o]
‘J
|
|
|
i
™ | Hi2 o
| s
|
i L M8x0.75
\
ﬁj 2
|
-
|
1
o
‘
@
L3
i =<
)
=
B5fi~i~ - #HIO 2
o
6B |
! =
W ﬁ |
R |




e

L1

M-PD5AF()-15-6B/6J-A8

6.5

M-PD6AF()-15-6B/6J-A8

6.5

M-PD8AF()-15-6B/6J-A8

M-PD10AF()-15-6B/6J-A8

7.5

M-PD15AF()-15-6B/6J-A8

M-PD10AAG()-15-6B/6J-A8

10

7.5

M-PD10BAG()-15-6B/6J-A8

10

7.5

M-PD15AAG()-15-6B/6J-A8

15

7.5

M-PD15BAG()-15-6B/6J-A8

15

7.5

M-PD20AAG()-15-6B/6J-A8

20

10

M-PD20BAG()-15-6B/6J-A8

20

10

M-PD10ABG()-15-6B/6J-A8

10

135

M-PD15ABG()-15-6B/6J-A8

15

16

40

~—M8X0.75

305

T

15

MSX0.8

H10

13

67.5

L1

~—M8X0.75

305

67.5

15

H10

13

L1




M-PD4J()-15-6B/6J-A8
M-PD6J()-15-6B/6J-A8
M-PD8J()-15-6B/6J-A8
M-PD5C()-15-6B/6J-A8 9.5
M-PD7C()-15-6B/6J-A8 10

41

|

|

|

|

l

l —Hi2
[Tp]

| [q¥]

|

305

=—M8X0.75
[Tp]
~|
"7 \D|
|
L
I
|
|
|
1
1 0
|
|
|
|
! 1
@ |
S |
| é |
[ -
I I H10 e
BS A |
| |
6B | |
|
|
|
O N | I ’ -
20l
|
|
I [N
|
|
|
|
|
|
|
|
|
1
[Tel
I ||
| (o]
; ™M)
1
=—M8X0.75
[Te]
~|
D
0
|
@
.=
I >
i [1p}
= -
| H10 o
B5t |
|
|
6B |
|
mI H |
s T - j




2 d | L1
M-PD15F()-3-6B/6J-A8 | 15 | 8
M-PD20F()-3-6B/6J-A8 | 20 | 10
M-PD20FO()-3-6B/6J-A8 | 20 | 10

M-PD20BG()-3-6B/6J-A8

42

1

; HI2 ~
|

1

|

| |—Maxo7s

™
a
o
N
a—
|
|
|
| ?JFI' ™
E
h
i
I
I o
|
|
|
]
|
|
r
| Hi2 |
| ™
| o
T
]
| =—MB8X0.75 o
| N
j—
|
|
1
| i o
o
|
n
2




M-PD10J()-3-6B/6J-A8

M-PD15J()-3-6B/6J-A8

M-PD20J()-3-6B/6J-A8

M-PD25J()-3-6B/6J-A8

M-PD10C()-3-6B/6J-A8

M-PD15C()-3-6B/6J-A8

M-PD18C()-3-6B/6J-A8

M-PD20C()-3-6B/6J-A8

10| 9.5 )
15 11
20 13 HIZ
25 15.5 ~—M8X0.75 s
; TR ™
3 H10 1
?d
9 | 18.3 ! o
15 | 26.1 |
19 | 26.3 3
; HI2 ~
20 | 26.3 | 2
i =—M8X0.75 %

L1

43




RS d | L1
M-PD15F()-10-6B/6J-A8 | 15 | 8
M-PD20F()-10-6B/6J-A8 | 20 | 10
M-PD20FO()-10-6B/6J-A8 20 | 10

M-PD20BG()-10-6B/6J-A8

44

6J

|

|

1 HIZ2 ~
|

|

|

|

| |Fvexors

23

Il

]

57

i 2

15

L1

M8X0.75

|

Il

1 HI2
|

|

|

|

-

|

23

1

n

1 S

H10

15

57

195




M-PD10J()-10-6B/6J-A8 | 10 | 9.5
M-PD15J()-10-6B/6J-A8 | 15 | 11 B
M-PD20J()-10-6B/6J-A8 | 20 | 13 . | e o
M-PD25J()-10-6B/6J-A8 | 25 | 15.5 e |
i S
?d
M-PD10C()-10-6B/6J-A8 | 9 | 18.3 J ”
M-PD15C()-10-6B/6J-A8 | 15 | 26.1 ]
M-PD18C()-10-6B/6J-A8 | 19 | 26.3 Jmll e
M-PD20C()-10-6B/6J-A8 | 20 | 26.3 %ﬁ 8
| ~—M8X0.75

1l

57

]

i 2

H10

15

L1

45



RS d | L1
M-PD15F()-15-6B/6J-A8 | 15 | 8
M-PD20F()-15-6B/6J-A8 | 20 | 10
M-PD20FO()-15-6B/6J-A8 | 20 | 10

M-PD20BG()-15-6B/6J-A8

46

|
|
|
|
l
1 f—Hie %
| [a¥]
|
|
|
|

~—M8X0.75

305

-

i R

15

69.5

L1

-3

~—M8X0.75

Hie &
o

n

305

:

(R

H10

15

695




305

i 0

15

69.5

L1

M-PD10J()-15-6B/6J-A8 | 10 | 9.5
M-PD15J()-15-6B/6J-A8 | 15 | 11
M-PD20J()-15-6B/6J-A8 | 20 | 13
M-PD25J()-15-6B/6J-A8 | 25 | 15.5
M-PD10C()-15-6B/6J-A8 | 9 | 18.3
M-PD15C()-15-6B/6J-A8 | 15 | 26.1
M-PD18C()-15-6B/6J-A8 | 19 | 26.3
M-PD20C()-15-6B/6J-A8 | 20 | 26.3

=
Y
24.5
305

12 )

15

69.5

L1

47




RS d | L1
M-PD15F()-6-6B/6J-A14 | 15 | 8
M-PD20F()-6-6B/6J-A14 | 20 | 10
M-PD20FO()-6-6B/6J-A14 | 20 | 10

M-PD20BG()-6-6B/6J-A14
M-PD10J()-6-6B/6J-A14 | 10 | 9.5
M-PD15J()-6-6B/6J-A14 | 15 | 11
M-PD20J()-6-6B/6J-A14 | 20 | 13
M-PD25J()-6-6B/6J-A14 | 25 | 15.5

48

ML14X1

HI19

00
QU

36

fixis

18

65

L1

~—M14X1

H19

28

36

18

65

19.5

~ML14X1

HI19

8

36

18

65

L1




M-PD10C()-6-6B/6J-A14 9 | 183
M-PD15C()-6-6B/6J-A14 | 15.2 | 26.1
M-PD18C()-6-6B/6J-A14 | 18.6 | 26.3
M-PD20C()-6-6B/6J-A14 | 20 | 26.3
iE=) d | L1
M-PD15F()-15-6B/6J-A14 | 15 | 8
M-PD20F()-15-6B/6J-A14 | 20 | 10
M-PD20FO()-15-6B/6J-A14 | 20 | 10

49

M5X0.8

~—M14X1

H19

8

36

TR

H14

18

65

L1




M-PD20BG()-15-6B/6J-A14

LM14X1
~}H19

28
36

74

15

TR

%HH

18

19.5

M-PD10J()-15-6B/6J-A14 | 10 | 9.5 -Miax1

M-PD15J()-15-6B/6J-A14 | 15 | 11 ) "

M-PD20J()-15-6B/6J-A14 | 20 | 13 7

M-PD25J()-15-6B/6J-A14 | 25 | 15.5 |
6J @ i D

M-PD10C()-15-6B/6J-A14 9 | 183
M-PD15C()-15-6B/6J-A14 | 15.2 | 26.1
M-PD18C()-15-6B/6J-A14 | 18.6 | 26.3

M-PD20C()-15-6B/6J-A14 20 | 26.3

50



e d | L1
M-PD15F()-30-6B/6J-A14 | 15 | 8
M-PD20F()-30-6B/6J-A14 | 20 | 10
M-PD20FO()-30-6B/6J-A14 | 20 | 10

M-PD20BG()-30-6B/6J-A14

~—M14X1

H19

S0

58

Gy

H14

18

111

L1

MSX0.8

—

~M14X1

H19

50

58

iy

30

18

111

195

51




M-PD10J()-30-6B/6J-A14 | 10 | 9.5
M-PD15J()-30-6B/6J-A14 | 15 | 11
M-PD20J()-30-6B/6J-A14 | 20 | 13
M-PD25J()-30-6B/6J-A14 | 25 | 15.5
M-PD10C()-30-6B/6J-A14 9 |183
M-PD15C()-30-6B/6J-A14 | 15.2 | 26.1
M-PD18C()-30-6B/6J-A14 | 18.6 | 26.3
M-PD20C()-30-6B/6J-A14 | 20 | 26.3

52

~—M14X1

<t B H19

50

58

T

35,1,,,] ,,,,,,,,,, 2 HL4

18

111

' vsxo.5-

L1




= d | L1
M-PD25AG()-6-6B/6J-A14 | 25 | 19.3
M-PD30AG()-6-6B/6J-A14 | 30 | 19.3
M-PD30BAG()-6-6B/6J-A14 | 30 | 16.3
M-PD40AG()-6-6B/6J-A14 | 40 | 19.3
M-PD50AG()-6-6B/6J-A14 | 50 | 19.3
M-PD20BF()-6-6B/6J-Al4 | 20 | 12.5
M-PD25F()-6-6B/6J-A14 | 25 | 14
M-PD30F()-6-6B/6J-A14 |30 | 12
M-PD35F()-6-6B/6J-A14 |35 | 14
M-PD40F()-6-6B/6J-A14 | 40 | 14
M-PD50F()-6-6B/6J-A14 | 50 | 15
M-PD60F()-6-6B/6J-A14 | 60 | 21
M-PD80F()-6-6B/6J-A14 | 80 | 23
M-PD95F()-6-6B/6J-A14 | 95 | 23.5
M-PD30FO()-6-6B/6J-Al14 | 29 | 12
M-PD20L()-6-6B/6J-A14 | 20 | 17.2
M-PD30L()-6-6B/6J-A14 | 30 | 17.2
M-PD40L()-6-6B/6J-A14 | 40 | 17.2
M-PD20R()-6-6B/6J-A14 |20 | 10
M-PD25R()-6-6B/6J-A14 |25 | 11
M-PD30R()-6-6B/6J-A14 |30 | 11
M-PD40R()-6-6B/6J-A14 | 40 | 14
M-PD50R()-6-6B/6J-A14 | 50 | 15

53

~—M14X1

H19

8

36

Tt

H14

el

68

Ll

~M14X1

HI19
0
A

36

7h

H14

el

68

Ll

?d




M-PD30BG()-6-6B/6J-A14 | 30 | 30.5
M-PD40BG()-6-6B/6J-A14 | 40 | 30.5
M-PD50BG()-6-6B/6J-A14 | 50 | 36.5
M-PD75BG()-6-6B/6J-A14 | 75 | 46
M-PD20B()-6-6B/6J-A14 | 20 | 19
M-PD30B()-6-6B/6J-A14 | 30 | 23
M-PD40B()-6-6B/6J-A14 | 40 | 30
M-PD50B()-6-6B/6J-A14 | 50 | 32
M-PD30J()-6-6B/6J-A14 | 30 | 18
M-PD35J()-6-6B/6J-A14 | 35 | 18
M-PD40J()-6-6B/6J-A14 | 40 | 18
M-PD50J()-6-6B/6J-A14 | 50 | 20
M-PD60J()-6-6B/6J-A14 | 60 | 25
M-PD70J()-6-6B/6J-A14 | 70 | 26
M-PD80J()-6-6B/6J-A14 | 80 | 26
M-PD20LB()-6-6B/6J-A14 | 20 | 22.2

54

~—M14X1

H19

28

36

cl

68

L1

~M14X1

H19

28

36

iy

Hi4

21

68

L1




M-PD30C()-6-6B/6J-A14 | 32 | 37.5
M-PD40C()-6-6B/6J-A14 | 42 | 46
M-PD60C()-6-6B/6J-A14 | 62 | 55
M-PD4x10E()-6-6B/6J-A14 | 4x10
M-PD4x20E()-6-6B/6J-Al4 | 4x20
M-PD4x30E()-6-6B/6J-A14 | 4x30
M-PD5x10E()-6-6B/6J-A14 | 5x10
M-PD5x20E()-6-6B/6J-A14 | 5x20
M-PD5x30E()-6-6B/6J-A14 | 5x30
M-PD6x10E()-6-6B/6J-A14 | 6x10
M-PD6x20E()-6-6B/6J-A14 | 6x20
M-PD6x30E()-6-6B/6J-A14 | 6x30
M-PD8x20E()-6-6B/6J-A14 | 8x20
M-PD8x30E()-6-6B/6J-A14 | 8x30

95

~M14X1

H19

°8

36

Gyt

ol

68

1




LERe) d | L1
M-PD25AG()-15-6B/6J-A14 | 25 | 19.3
M-PD30AG()-15-6B/6J-A14 | 30 | 19.3
M-PD30BAG()-15-6B/6J-A14 | 30 | 16.3
M-PD40AG()-15-6B/6J-A14 | 40 | 19.3
M-PD50AG()-15-6B/6J-A14 | 50 | 19.3
M-PD20BF()-15-6B/6J-A14 | 20 | 12.5
M-PD25F()-15-6B/6J-A14 | 25 | 14
M-PD30F()-15-6B/6J-A14 | 30 | 12
M-PD35F()-15-6B/6J-A14 | 35 | 14
M-PD40F()-15-6B/6J-A14 | 40 | 14
M-PD50F()-15-6B/6J-A14 | 50 | 15
M-PD60F()-15-6B/6J-A14 | 60 | 21
M-PD80F()-15-6B/6J-A14 | 80 | 23
M-PD95F()-15-6B/6J-A14 | 95 | 23.5
M-PD30FO()-15-6B/6J-A14 | 29 | 12
M-PD20L()-15-6B/6J-A14 | 20 | 17.2
M-PD30L()-15-6B/6J-A14 | 30 | 17.2
M-PD40L()-15-6B/6J-A14 | 40 | 17.2
M-PD20R()-15-6B/6J-A14 | 20 | 10
M-PD25R()-15-6B/6J-A14 | 25 | 11
M-PD30R()-15-6B/6J-A14 | 30 | 11
M-PD40R()-15-6B/6J-A14 | 40 | 14
M-PD50R()-15-6B/6J-A14 | 50 | 15

~—M14X1

H19

28

36

i

15

H14

21

77

L1

ML14X1

H19

°8

36

T

H14

el

77

L1

56




M-PD30BG()-15-6B/6J-A14 | 30 | 30.5 R
M-PD40BG()-15-6B/6J-A14 | 40 | 30.5 L M14x1
M-PD50BG()-15-6B/6J-A14 | 50 | 36.5 H12 o
M-PD75BG()-15-6B/6J-A14 | 75 | 46 &
M-PD20B()-15-6B/6J-A14 | 20 | 19 ~
M-PD30B()-15-6B/6J-A14 | 30 | 23 P
M-PD40B()-15-6B/6J-A14 | 40 | 30
M-PD50B()-15-6B/6J-A14 | 50 | 32 o
M-PD30J()-15-6B/6J-A14 30 | 18
M-PD35J()-15-6B/6J-A14 35| 18 —\ -
M-PD40J()-15-6B/6J-A14 40 | 18 ‘
M-PD50J()-15-6B/6J-A14 | 50 | 20 e |
M-PD60J()-15-6B/6J-A14 60 | 25
M-PD70J()-15-6B/6J-A14 70 | 26 .
M-PD80J()-15-6B/6J-A14 80 | 26 it
H19
M-PD20LB()-15-6B/6J-A14 | 20 | 22.2 . 0
ik O
H14 ad

o7

L1




M-PD30C()-15-6B/6J-Al4 | 32 | 37.5
M-PD40C()-15-6B/6J-Al4 | 42 | 46
M-PD60C()-15-6B/6J-A1l4 | 62 | 55
M-PD4x10E()-15-6B/6J-A14 | 4x10
M-PD4x20E()-15-6B/6J-A14 | 4x20
M-PD4x30E()-15-6B/6J-A14 | 4x30
M-PD5x10E()-15-6B/6J-A14 | 5x10
M-PD5x20E()-15-6B/6J-A14 | 5x20
M-PD5x30E()-15-6B/6J-A14 | 5x30
M-PD6x10E()-15-6B/6J-A14 | 6x10
M-PD6x20E()-15-6B/6J-A14 | 6x20
M-PD6x30E()-15-6B/6J-A14 | 6x30
M-PD8x20E()-15-6B/6J-A14 | 8x20
M-PD8x30E()-15-6B/6J-A14 | 8x30

58

36

15

2l

77

L1

~—M14X1

H19

c8

36

iTHE

15

H14

2l

77

1




~M14X1

H19

50

I

o8

el

114

L1

~—M14X1

H19

50

S8

UL d | L1 T
M-PD25AG()-30-6B/6J-A14 | 25 | 19.3
M-PD30AG()-30-6B/6J-A14 | 30 | 19.3
M-PD30BAG()-30-6B/6J-A14 | 30 | 16.3 i |
M-PD40AG()-30-6B/6J-A14 | 40 | 19.3
M-PD50AG()-30-6B/6J-A14 | 50 | 19.3
M-PD20BF()-30-6B/6J-A14 | 20 | 12.5
M-PD25F()-30-6B/6J-A14 | 25| 14
M-PD30F()-30-6B/6J-A14 | 30 | 12
M-PD35F()-30-6B/6J-A14 | 35| 14
M-PD40F()-30-6B/6J-A14 | 40 | 14
M-PD50F()-30-6B/6J-A14 | 50 | 15
M-PD60F()-30-6B/6J-A14 | 60 | 21
M-PD80F()-30-6B/6J-A14 | 80 | 23
M-PD95F()-30-6B/6J-A14 | 95 | 23.5
M-PD30FO()-30-6B/6J-A14 | 29 | 12
M-PD20L()-30-6B/6J-A14 | 20 | 17.2
M-PD30L()-30-6B/6J-A14 | 30 | 17.2 1
M-PD40L()-30-6B/6J-A14 | 40 | 17.2
M-PD20R()-30-6B/6J-A14 | 20 | 10 L |
M-PD25R()-30-6B/6J-A14 | 25 | 11
M-PD30R()-30-6B/6J-A14 |30 | 11
M-PD40R()-30-6B/6J-A14 | 40 | 14
M-PD50R()-30-6B/6J-A14 | 50 | 15

(i

H14

el

114

L1

59




M-PD30BG()-30-6B/6J-A14 | 30 | 30.5
M-PD40BG()-30-6B/6J-A14 | 40 | 30.5
M-PD50BG()-30-6B/6J-A14 | 50 | 36.5
M-PD75BG()-30-6B/6J-A14 | 75 | 46
M-PD20B()-30-6B/6J-A14 | 20 | 19
M-PD30B()-30-6B/6J-A14 | 30 | 23
M-PD40B()-30-6B/6J-A14 | 40 | 30
M-PD50B()-30-6B/6J-A14 | 50 | 32
M-PD30J()-30-6B/6J-A14 | 30 | 18
M-PD35J()-30-6B/6J-A14 | 35 | 18
M-PD40J()-30-6B/6J-A14 | 40 | 18
M-PD50J()-30-6B/6J-A14 | 50 | 20
M-PD60J()-30-6B/6J-A14 | 60 | 25
M-PD70J()-30-6B/6J-A14 | 70 | 26
M-PD80J()-30-6B/6J-A14 | 80 | 26
M-PD20LB()-30-6B/6J-A14 | 20 | 22.2

60

~M14X1

HI19

50

58

e

114

H14 N
i
od
ip|
—M14X1
] H19
{1 | .
o
N
S
H14 o

L1




M-PD30C()-30-6B/6J-A14 | 32 | 375
M-PD40C()-30-6B/6J-A14 | 42 | 46
M-PD60C()-30-6B/6J-A14 | 62 | 55

M-PD4x10E()-30-6B/6J-A14 | 4x10
M-PD4x20E()-30-6B/6J-A14 | 4x20
M-PD4x30E()-30-6B/6J-A14 | 4x30
M-PD5x10E()-30-6B/6J-A14 | 5x10
M-PD5x20E()-30-6B/6J-A14 | 5x20
M-PD5x30E()-30-6B/6J-A14 | 5x30
M-PD6x10E()-30-6B/6J-A14 | 6x10
M-PD6x20E()-30-6B/6J-A14 | 6x20
M-PD6X30E()-30-6B/6J-A14 | 6x30
M-PD8x20E()-30-6B/6J-A14 | 8x20
M-PD8X30E()-30-6B/6J-A14 | 8x30

61

~—M14X1

H19

S0

58

(g

30

2l

114

L1

~M14X1

H19

S0

o8

T

30

H14

21

114

11




L) d | L1
M-PD60F()-10-B01-A22-C | 60 | 18.5
M-PD80F()-10-B01-A22-C | 80 | 20.5
M-PD95F()-10-B01-A22-C | 95 | 21

M-PD75BG()-10-B01-A22-C

T
|
L
|
| —M22Xx1.5
|
|
|
9 | H30
1 ?
|
|
|
T
|
|
| 5
} =
= | o
* [}
. \ °
»| .
. | ° M0 S
g | o
* o
P | °
|
l
|
|
e —He2 I
Gl/8— — — — !
|
MlOXlEB\L :
\ ! |
|
|
il | -
— I
]
I
| o |
T
1) :
|
:
|
| L Me2x15
|
|
|
E | H30
o
'p)
|
|
|
|
|
|
| 5
1 =2
hd | o
b o
= | o
. | ° R0 S
b | o
= o
o | 5
f
|
|
_ Hee &
Gl/8— — — — :
M10x125\ :
T i
n
™
~

62




M-PD60J()-10-B01-A22-C

M-PD70J()-10-B01-A22-C

M-PD80J()-10-B01-A22-C

|
60 | 22.5 ‘
70 235 } —M22Xx1.5
|
80 | 23.5 8 [ |
a %
|
|
|
| S
- ; o
M | °
M | ° 10§
I
. | S
|
|
(S Hee &
Gl/8— — — :
M10><125\L :
| [
| |
il 5
| =

63




uths} d | L1 1]

M-PD60F()-30-B01-A22-C | 60 | 18.5
M-PD8OF()-30-B01-A22-C | 80 | 20.5
M-PD95F()-30-B01-A22-C | 95 | 21

—M22x1.5

10

(—\/—\

50

UUU0U0U0UU0U0U0U0UU0UUUU

A LEENEEENEEERENERENN]

17 30

1

30

137

Ll

M-PD75BG()-30-B01-A22-C

—Meax1.5

10

(—\/—\

50

UUUUUUUUUUUUUUUUUU

1R 30

o i

_ Hee
Gl/8— — — —

30

137

M10X1.25~ I

435

64




M-PD60J()-30-B01-A22-C | 60 | 22.5
M-PD70J()-30-B01-A22-C | 70 | 23.5
M-PD80J()-30-B01-A22-C | 80 | 23.5

65

—M22X1.5

10

}}—BO

(7/—\

AR EEEE NN NN NN KN

S0

U0 U0U0U0UUUUUUUUUUUUUU

17# 30

B

Gl/8— — — —

Hee

30

137

MlOXlEB\
]

(

[




Ui d | L1
M-PD60F()-50-B01-A22-C | 60 | 18.5
M-PD80F()-50-B01-A22-C | 80 | 20.5
M-PD95F()-50-B01-A22-C | 95 | 21

66

|

10

——M22Xx1.5

S0

UUU0UUUUUUTUU0 U000 UU0DU0U0TU0UUU

T S0

AN AAY

|

G1/8—=

Hee

30

162

M1ox1e5\
\

%

[

‘ jufe]




M-PD75BG()-50-B01-A22-C

L

= INANANAARRRRRRRRRRRRR :

=1

Gl/8— — — —

M10x1‘25\
\

67



SRR
— b

M-PD60J()-50-B01-A22-C | 60 | 22.5

M-PD70J()-50-B01-A22-C | 70 | 23.5

M-PD80J()-50-B01-A22-C | 80 | 23.5

11

Pol

68



n5

M-PD90C()-10-B01-A22-C

69

1] N
|
| U M22X15
|
= [ l H30 i
| Ip)
e
|
|
1 ™
3 ]
N : 17#2 10 8
M |
|
|
Gl/8 - Hee =
! 5
| QU
M12X1.25
I ]
|
|
|
|
|
|
l
— 1
! o
|
|
|
S
|
|
|
l
358




Lee

=R 0 e .

L; “““

N s e e Tt s s e anenend oy

A

01

Miex1.25

o
By

M-PD90C()-30-B01-A22-C

70



292

| O LAY —
4...................... |

o
By

M-PD90C()-50-B01-A22-C

G'/8

71



2 d | L1
M-PD120F()-20-B02-A30-C | 120 | 25.5
M-PD150F()-20-B02-A30-C | 150 | 32.5
M-PD200F()-20-B02-A30-C | 200 | 37.5

1] o
- M30X15
Sir H36 -
oy ’
| ™
| =
.
‘ -
TR 20 4
ﬁk% ffffffff - Gl/4 O
-
RS j |
g :

S
O

72




iE=) d | L1
M-PD120F()-50-B02-A30-C | 120 | 25.5
M-PD150F()-50-B02-A30-C | 150 | 32.5
M-PD200F()-50-B02-A30-C | 200 | 37.5

10
=

e ©® & & & & © & & & & O & 0 @

—— M30X1.5

H36

60

Gy SR

143

| e ——C P

30

173

L1

73




ng

M-PD5AF()-3H-6B/6J-A8

M-PD6AF()-3H-6B/6J-A8

M-PD8AF()-3H-6B/6J-A8

M-PD10AF()-3H-6B/6J-A8

M-PD15AF()-3H-6B/6J-A8

M-PD10AAG()-3H-6B/6J-A8

10

7.5

M-PD10BAG()-3H-6B/6J-A8

10

7.5

M-PD15AAG()-3H-6B/6J-A8

15

7.5

M-PD15BAG()-3H-6B/6J-A8

15

7.5

M-PD20AAG()-3H-6B/6J-A8

20

10

M-PD20BAG()-3H-6B/6J-A8

20

10

M-PD10ABG()-3H-6B/6J-A8

10

13.5

M-PD15ABG()-3H-6B/6J-A8

15

16

6J

M-PD4J()-3H-6B/6J-A8

M-PD6J()-3H-6B/6J-A8

M-PD8J()-3H-6B/6J-A8

M5X0.8

B5-+--

M5X0.8

74

‘
‘

| HL2 o
!

1

|

| ~—M8X0.75

‘

|

23

48

23

48

|
|

| H12 o
|

|

| ~—M8X0.75

|

|

; HI2
|

l

|

| |=—Mex075

23

48




M-PD5C()-3H-6B/6J-A8

9.5

M-PD7C()-3H-6B/6J-A8 | 7

10

ng

M-PD5AF()-10H-6B/6J-A8

M-PD6AF()-10H-6B/6J-A8

M-PD8AF()-10H-6B/6J-A8

M-PD10AF()-10H-6B/6J-A8

M-PD15AF()-10H-6B/6J-A8

M-PD10AAG()-10H-6B/6J-A8

10

7.5

M-PD10BAG()-10H-6B/6J-A8

10

7.5

M-PD15AAG()-10H-6B/6J-A8

15

7.5

M-PD15BAG()-10H-6B/6J-A8

15

7.5

M-PD20AAG()-10H-6B/6J-A8

20

10

M-PD20BAG()-10H-6B/6J-A8

20

10

75

|

|

| HI2 o
|

l

|

| |FM8x07S

23

48

L1

—=
|

1
|

] HI2 o)
: ®
|

]

i

| =—M8X0.75

23

T

TR

o

55

L1




M-PD10ABG()-10H-6B/6J-A8 | 10 | 13.5
M-PD15ABG()-10H-6B/6J-A8 | 15 | 16
M-PD4J()-10H-6B/6J-A8
M-PD6J()-10H-6B/6J-A8
M-PD8J()-10H-6B/6J-A8
M-PD5C()-10H-6B/6J-A8 9.5
M-PD7C()-10H-6B/6J-A8 10

76

| o
‘
\
\
3
| M2 o
‘ R
‘
i L—Mex0.75
)
‘ 2
1
\
|
| Fr O
| 11H 2
|
\
3
73 H10 o
3
|
|
I [N
J
|
|
|
3
o \ HI2 o
| &
|
| [-—Mexo7s
7] g
|
L
\
l
\
| S
\
\
l
@ |
R
i n
i T S— -
! H10 o
B5-—+-+-
6B | ‘
e \ g )
ol
|
i
I (o]
‘J
|
|
|
i
™ | Hi2 o
| s
|
i L M8x0.75
\
ﬁj #
|
-
|
1
o
‘
@
L3
i =<
)
=
B5fi~i~ B #HIO 2
o
6B |
! =
W ﬁ |
R |




LERe) d | L1
M-PD5AF()-15H-6B/6J-A8 | 5 | 6.5
M-PD6AF()-15H-6B/6J-A8 | 6 | 6.5
M-PD8AF()-15H-6B/6J-A8 | 8 | 7
M-PD10AF()-15H-6B/6J-A8 | 10 | 7.5
M-PD15AF()-15H-6B/6J-A8 | 15 | 8
M-PD10AAG()-15H-6B/6J-A8 | 10 | 7.5
M-PD10BAG()-15H-6B/6J-A8 | 10 | 7.5
M-PD15AAG()-15H-6B/6J-A8 | 15 | 7.5
M-PD15BAG()-15H-6B/6J-A8 | 15 | 7.5
M-PD20AAG()-15H-6B/6J-A8 | 20 | 10
M-PD20BAG()-15H-6B/6J-A8 | 20 | 10
M-PD10ABG()-15H-6B/6J-A8 | 10 | 13.5
M-PD15ABG()-15H-6B/6J-A8 | 15 | 16

7

M5X0.8

13

L1

~—M8Xx0.75

305

15

13

67.5

L1




M-PD4J()-15H-6B/6J-A8

M-PD6J()-15H-6B/6J-A8

M-PD8J()-15H-6B/6J-A8

M-PD5C()-15H-6B/6J-A8

9.5

M-PD7C()-15H-6B/6J-A8

10

78

‘

‘

‘

‘

1

l Hi2 10
[Tp]

| [q¥]

‘

305

~—MB8X0.75
10|
~
— |
]
L
]
]
]
]
l
l 0
|
]
]
]
‘ l
@ |
o ]
| é |
. -
! ! H10 e
BS A |
I I
6B i i
|
I
i
) N R A | B | B . o
2d
i
i
I o
|
|
|
|
|
]
]
]
|
l
10|
I ||
| o
; |
1
~=—MB8X0.75
1)
~
0|
[
i
@
=
X
s}
= -
! H10 a
B5t |
I
i
6B |
[IW W i
H i
s [ -




ng

L1

M-PD15F()-3H-6B/6J-A8

15

M-PD20F()-3H-6B/6J-A8

20

10

M-PD20FO()-3H-6B/6J-A8

20

10

M-PD20BG()-3H-6B/6J-A8

79

1

; HI2 ~
|

1

|

| |—Maxo7s

™
a
o
N
a—
|
|
|
| irfE o
E
h
i
I
I o
|
|
|
]
|
|
r
| H12 1~
| ™
| o
T
]
| =—MB8X0.75 o
| N
j—
|
|
1
| 17 o
o
|
n
2




M-PD10J()-3H-6B/6J-A8

10

9.5

M-PD15J()-3H-6B/6J-A8

15

11

M-PD20J()-3H-6B/6J-A8

20

13

M-PD25J()-3H-6B/6J-A8

25

15.5

M-PD10C()-3H-6B/6J-A8

18.3

M-PD15C()-3H-6B/6J-A8

15

26.1

M-PD18C()-3H-6B/6J-A8

19

26.3

M-PD20C()-3H-6B/6J-A8

20

26.3

80

|

; CIENN
|

l

|

| |=—Mex07s

|

|

23

S0

L1




n5

L1

M-PD15F()-10H-6B/6J-A8

15

M-PD20F()-10H-6B/6J-A8

20

10

M-PD20FO()-10H-6B/6J-A8

20

10

M-PD20BG()-10H-6B/6J-A8

81

6J

\
\

1 IENN
\

\

|

\

| |-wexars

23

Il

]

57

i 2

15

L1

\
\

1 HI2
%

\

\

\

-

\

‘

M8X0.75

23

il

i S

H10

15

57




|

|

1 HIZ
|

|

|

|

| eMexo7s

1l

23

n

ik

o

57

M-PD10J()-10H-6B/6J-A8 | 10 | 9.5
M-PD15J()-10H-6B/6J-A8 | 15 | 11
M-PD20J()-10H-6B/6J-A8 | 20 | 13
M-PD25J()-10H-6B/6J-A8 | 25 | 15.5
M-PD10C()-10H-6B/6J-A8 | 9 | 18.3
M-PD15C()-10H-6B/6J-A8 | 15 | 26.1
M-PD18C()-10H-6B/6J-A8 | 19 | 26.3
M-PD20C()-10H-6B/6J-A8 | 20 | 26.3

|

Il

l HI2 ~
|

|

1

| Mexo7s

1l

23

]

1 2

H10

15

57

L1

82




n5

L1

M-PD15F()-15H-6B/6J-A8

15

M-PD20F()-15H-6B/6J-A8

20

10

M-PD20FO()-15H-6B/6J-A8

20

10

M-PD20BG()-15H-6B/6J-A8

83

305

|
|
|
|
}
1 f—Hie %
| [a¥]
|
|
|
|

~—M8X0.75

-

i )

15

69.5

L1

305

|
|
|
|
1
1 2 2
[ o
|
|
|
|

~—M8X0.75

:

1 0

H10

15

695




305

iy

15

69.5

L1

M-PD10J()-15H-6B/6J-A8 | 10 | 9.5
M-PD15J()-15H-6B/6J-A8 | 15 | 11
M-PD20J()-15H-6B/6J-A8 | 20 | 13
M-PD25J()-15H-6B/6J-A8 | 25 | 15.5
M-PD10C()-15H-6B/6J-A8 | 9 | 18.3
M-PD15C()-15H-6B/6J-A8 | 15 | 26.1
M-PD18C()-15H-6B/6J-A8 | 19 | 26.3
M-PD20C()-15H-6B/6J-A8 | 20 | 26.3

305

(I

15

15

69.5

L1

84




w= d | L1
M-PD15F()-6H-6B/6J-A14 | 15 | 8
M-PD20F()-6H-6B/6J-A14 | 20 | 10
M-PD20FO()-6H-6B/6J-A14 | 20 | 10

M-PD20BG()-6H-6B/6J-A14

M-PD10J()-6H-6B/6J-A14 | 10 | 9.5
M-PD15J()-6H-6B/6J-A14 | 15 | 11
M-PD20J()-6H-6B/6J-A14 | 20 | 13
M-PD25J()-6H-6B/6J-A14 | 25 | 15.5

85

ML14X1

HI19

00
QU

36

1T

18

65

L1

~—M14X1

H19

28

36

18

65

19.5

~ML14X1

HI19

8

36

18

65

L1




M-PD10C()-6H-6B/6J-A14 | 9 | 18.3
M-PD15C()-6H-6B/6J-A14 | 15.2 | 26.1
M-PD18C()-6H-6B/6J-A14 | 18.6 | 26.3
M-PD20C()-6H-6B/6J-A14 | 20 | 26.3
iE=) d | L1
M-PD15F()-15H-6B/6J-A14 | 15 | 8
M-PD20F()-15H-6B/6J-A14 | 20 | 10
M-PD20FO()-15H-6B/6J-A14 | 20 | 10

86

M5X0.8

~—M14X1

H19

8

36

T

H14

18

65

L1




M-PD20BG()-15H-6B/6J-A14

LM14X1
~}H19

28
36

74

15

T

%HH

18

19.5

M-PD10J()-15H-6B/6J-A14 | 10 | 9.5 -Miax1
M-PD15J()-15H-6B/6J-A14 | 15 | 11 K "
M-PD20J()-15H-6B/6J-A14 | 20 | 13 )
M-PD25J()-15H-6B/6J-A14 | 25 | 15.5 |
6J @ i D

M-PD10C()-15H-6B/6J-A14 9 18.3
M-PD15C()-15H-6B/6J-A14 | 15.2 | 26.1
M-PD18C()-15H-6B/6J-A14 | 18.6 | 26.3

M-PD20C()-15H-6B/6J-A14 | 20 | 26.3

87



e d | L1
M-PD15F()-30H-6B/6J-A14 | 15 | 8
M-PD20F()-30H-6B/6J-A14 | 20 | 10
M-PD20FO()-30H-6B/6J-A14 | 20 | 10

M-PD20BG()-30H-6B/6J-A14

—M14X1
< 1 H19
| B
Q0
[ip]
1 &
HI4 @
I
- .
=-M14X1
<{ 1 H1S
| A
(e8]
ip!
(Eals
@
o
>
- 0
Bs'r—i——J ——————————— =
@ﬁsﬁﬁt% M5X0.8

195

88




M-PD10J()-30H-6B/6J-A14

10

9.5

M-PD15J()-30H-6B/6J-A14

15

11

M-PD20J()-30H-6B/6J-A14

20

13

M-PD25J()-30H-6B/6J-A14

25

155

M-PD10C()-30H-6B/6J-A14

18.3

M-PD15C()-30H-6B/6J-A14

15.2

26.1

M-PD18C()-30H-6B/6J-A14

18.6

26.3

M-PD20C()-30H-6B/6J-A14

20

26.3

89

~—M14X1

<t B H19

50

58

iTHe

55,1,,,] ,,,,,,,,,, 2 HL4

18

111

' vsxo.5-

L1




= d | L1
M-PD25AG()-6H-6B/6J-A14 | 25 | 19.3
M-PD30AG()-6H-6B/6J-A14 | 30 | 19.3
M-PD30BAG()-6H-6B/6J-A14 | 30 | 16.3
M-PD40AG()-6H-6B/6J-A14 | 40 | 19.3
M-PD50AG()-6H-6B/6J-A14 | 50 | 19.3
M-PD20BF()-6H-6B/6J-A14 | 20 | 12.5
M-PD25F()-6H-6B/6J-A14 | 25 | 14
M-PD30F()-6H-6B/6J-A14 | 30 | 12
M-PD35F()-6H-6B/6J-A14 | 35 | 14
M-PD40F()-6H-6B/6J-A14 | 40 | 14
M-PD50F()-6H-6B/6J-A14 | 50 | 15
M-PD60F()-6H-6B/6J-A14 | 60 | 21
M-PD80F()-6H-6B/6J-A14 | 80 | 23
M-PD95F()-6H-6B/6J-Al4 | 95 | 23.5
M-PD30FO()-6H-6B/6J-A14 | 29 | 12
M-PD20L()-6H-6B/6J-A14 | 20 | 17.2
M-PD30L()-6H-6B/6J-A14 | 30 | 17.2
M-PD40L()-6H-6B/6J-A14 | 40 | 17.2
M-PD20R()-6H-6B/6J-A14 | 20 | 10
M-PD25R()-6H-6B/6J-Al14 | 25 | 11
M-PD30R()-6H-6B/6J-A14 | 30 | 11
M-PD40R()-6H-6B/6J-A14 | 40 | 14
M-PD50R()-6H-6B/6J-A14 | 50 | 15

90

~—M14X1

H19

8

36

i

H14

el

68

Ll

~M14X1

HI19
0
A

36

171

H14

el

68

Ll

?d




M-PD30BG()-6H-6B/6J-A14 | 30 | 30.5
M-PD40BG()-6H-6B/6J-A14 | 40 | 30.5
M-PD50BG()-6H-6B/6J-A14 | 50 | 36.5
M-PD75BG()-6H-6B/6J-A14 | 75 | 46
M-PD20B()-6H-6B/6J-A14 | 20 | 19
M-PD30B()-6H-6B/6J-A14 | 30 | 23
M-PD40B()-6H-6B/6J-A14 | 40 | 30
M-PD50B()-6H-6B/6J-A14 | 50 | 32
M-PD30J()-6H-6B/6J-A14 | 30 | 18
M-PD35J()-6H-6B/6J-A14 | 35 | 18
M-PD40J()-6H-6B/6J-A14 | 40 | 18
M-PD50J()-6H-6B/6J-A14 | 50 | 20
M-PD60J()-6H-6B/6J-A14 | 60 | 25
M-PD70J()-6H-6B/6J-A14 | 70 | 26
M-PD80J()-6H-6B/6J-A14 | 80 | 26
M-PD20LB()-6H-6B/6J-Al4 | 20 | 22.2

91

~—M14X1

H19

28

36

cl

68

L1

~M14X1

H19

28

36

ke

Hi4

21

68

L1




M-PD30C()-6H-6B/6J-A14

32 | 37.5

M-PD40C()-6H-6B/6J-A14

42 | 46

M-PD60C()-6H-6B/6J-A14

62 | 55

M-PD4x10E()-6H-6B/6J-A14

4x10

M-PD4x20E()-6H-6B/6J-A14

4x20

M-PD4x30E()-6H-6B/6J-A14

4x30

M-PD5x10E()-6H-6B/6J-A14

5x10

M-PD5x20E()-6H-6B/6J-A14

5x20

M-PD5x30E()-6H-6B/6J-A14

5x30

M-PD6x10E()-6H-6B/6J-A14

6x10

M-PD6x20E()-6H-6B/6J-A14

6x20

M-PD6x30E()-6H-6B/6J-A14

6x30

M-PD8x20E()-6H-6B/6J-A14

8x20

M-PD8x30E()-6H-6B/6J-A14

8x30

92

~M14X1

H19

°8

36

iz

6

ol

68

1




LERe) d | L1
M-PD25AG()-15H-6B/6J-A14 | 25 | 19.3
M-PD30AG()-15H-6B/6J-A14 | 30 | 19.3
M-PD30BAG()-15H-6B/6J-A14 | 30 | 16.3
M-PD40AG()-15H-6B/6J-A14 | 40 | 19.3
M-PD50AG()-15H-6B/6J-A14 | 50 | 19.3
M-PD20BF()-15H-6B/6J-A14 | 20 | 12.5
M-PD25F()-15H-6B/6J-A14 | 25 | 14
M-PD30F()-15H-6B/6J-A14 | 30 | 12
M-PD35F()-15H-6B/6J-A14 | 35 | 14
M-PD40F()-15H-6B/6J-A14 | 40 | 14
M-PD50F()-15H-6B/6J-A14 | 50 | 15
M-PD60F()-15H-6B/6J-A14 | 60 | 21
M-PD80F()-15H-6B/6J-A14 | 80 | 23
M-PD95F()-15H-6B/6J-A14 | 95 | 23.5
M-PD30FO()-15H-6B/6J-A14 | 29 | 12
M-PD20L()-15H-6B/6J-A14 | 20 | 17.2
M-PD30L()-15H-6B/6J-A14 | 30 | 17.2
M-PD40L()-15H-6B/6J-A14 | 40 | 17.2
M-PD20R()-15H-6B/6J-A14 | 20 | 10
M-PD25R()-15H-6B/6J-A14 | 25 | 11
M-PD30R()-15H-6B/6J-A14 | 30 | 11
M-PD40R()-15H-6B/6J-A14 | 40 | 14
M-PD50R()-15H-6B/6J-A14 | 50 | 15

93

~—M14X1

H19

28

36

AT

15

H14

el

77

L1

ML14X1

H19

°8

36

T

15

H14

el

77

L1




M-PD30BG()-15H-6B/6J-A14 | 30 | 30.5 R

M-PD40BG()-15H-6B/6J-A14 | 40 | 30.5 L M14x1

M-PD50BG()-15H-6B/6J-A14 | 50 | 36.5 H12 o

M-PD75BG()-15H-6B/6J-A14 | 75 | 46 &

M-PD20B()-15H-6B/6J-A14 | 20 | 19 ~

M-PD30B()-15H-6B/6J-A14 | 30 | 23 P

M-PD40B()-15H-6B/6J-A14 | 40 | 30

M-PD50B()-15H-6B/6J-A14 | 50 | 32 o

M-PD30J()-15H-6B/6J-A14 | 30 | 18

M-PD35J()-15H-6B/6J-A14 | 35 | 18 —\ -

M-PD40J()-15H-6B/6J-A14 | 40 | 18 ‘

M-PD50J()-15H-6B/6J-A14 | 50 | 20 e |

M-PD60J()-15H-6B/6J-A14 | 60 | 25

M-PD70J()-15H-6B/6J-A14 | 70 | 26

M-PD80J()-15H-6B/6J-A14 | 80 | 26 it .
H19

M-PD20LB()-15H-6B/6J-A14 | 20 | 22.2 . 0

ik

H14 ad

94

L1




M-PD30C()-15H-6B/6J-A14 | 32 | 37.5
M-PD40C()-15H-6B/6J-Al4 | 42 | 46
M-PD60C()-15H-6B/6J-Al4 | 62 | 55

M-PD4x10E()-15H-6B/6J-A14

4x10

M-PD4x20E()-15H-6B/6J-Al14

4x20

M-PD4x30E()-15H-6B/6J-A14

4x30

M-PD5x10E()-15H-6B/6J-A14

5x10

M-PD5x20E()-15H-6B/6J-A14

5x20

M-PD5x30E()-15H-6B/6J-A14

5x30

M-PD6x10E()-15H-6B/6J-Al14

6x10

M-PD6x20E()-15H-6B/6J-Al14

6x20

M-PD6X30E()-15H-6B/6J-A14

6x30

M-PD8x20E()-15H-6B/6J-A14

8x20

M-PD8x30E()-15H-6B/6J-A14

8x30

95

36

15

2l

77

L1

~—M14X1

H19

c8

36

ke

H14

2l

77

1




5 d | L1
M-PD25AG()-30H-6B/6J-A14 | 25 | 19.3
M-PD30AG()-30H-6B/6J-A14 | 30 | 19.3
M-PD30BAG()-30H-6B/6J-A14 | 30 | 16.3
M-PD40AG()-30H-6B/6J-A14 | 40 | 19.3
M-PD50AG()-30H-6B/6J-A14 | 50 | 19.3
M-PD20BF()-30H-6B/6J-A14 | 20 | 12.5
M-PD25F()-30H-6B/6J-A14 | 25 | 14
M-PD30F()-30H-6B/6J-A14 | 30 | 12
M-PD35F()-30H-6B/6J-A14 | 35 | 14
M-PD40F()-30H-6B/6J-A14 | 40 | 14
M-PD50F()-30H-6B/6J-A14 | 50 | 15
M-PD60F()-30H-6B/6J-A14 | 60 | 21
M-PD80F()-30H-6B/6J-A14 | 80 | 23
M-PD95F()-30H-6B/6J-A14 | 95 | 23.5
M-PD30FO()-30H-6B/6J-A14 | 29 | 12
M-PD20L()-30H-6B/6J-A14 | 20 | 17.2
M-PD30L()-30H-6B/6J-A14 | 30 | 17.2
M-PD40L()-30H-6B/6J-A14 | 40 | 17.2
M-PD20R()-30H-6B/6J-A14 | 20 | 10
M-PD25R()-30H-6B/6J-A14 | 25 | 11
M-PD30R()-30H-6B/6J-A14 | 30 | 11
M-PD40R()-30H-6B/6J-A14 | 40 | 14
M-PD50R()-30H-6B/6J-A14 | 50 | 15

96

H

M14X1

H19

S0

15

o8

iy

30

21

114

L1

~—M14X1

H19

50

S8

T

H14

el

114

L1




M-PD30BG()-30H-6B/6J-A14 | 30 | 30.5
M-PD40BG()-30H-6B/6J-A14 | 40 | 30.5
M-PD50BG()-30H-6B/6J-A14 | 50 | 36.5
M-PD75BG()-30H-6B/6J-A14 | 75 | 46
M-PD20B()-30H-6B/6J-A14 | 20 | 19
M-PD30B()-30H-6B/6J-A14 | 30 | 23
M-PD40B()-30H-6B/6J-A14 | 40 | 30
M-PD50B()-30H-6B/6J-A14 | 50 | 32
M-PD30J()-30H-6B/6J-A14 | 30 | 18
M-PD35J()-30H-6B/6J-A14 | 35 | 18
M-PD40J()-30H-6B/6J-A14 | 40 | 18
M-PD50J()-30H-6B/6J-A14 | 50 | 20
M-PD60J()-30H-6B/6J-A14 | 60 | 25
M-PD70J()-30H-6B/6J-A14 | 70 | 26
M-PD80J()-30H-6B/6J-A14 | 80 | 26
M-PD20LB()-30H-6B/6J-A14 | 20 | 22.2

97

~M14X1

HI19

50

58

e

114

H14 N
i
od
ip|
—M14X1
] H19
{1 | .
o
h
S
H14 o

L1




M-PD30C()-30H-6B/6J-A14 | 32 | 37.5
M-PD40C()-30H-6B/6J-A14 | 42 | 46
M-PD60C()-30H-6B/6J-A14 | 62 | 55

M-PD4x10E()-30H-6B/6J-A14

4x10

M-PD4x20E()-30H-6B/6J-A14

4x20

M-PD4x30E()-30H-6B/6J-A14

4x30

M-PD5x10E()-30H-6B/6J-A14

5x10

M-PD5x20E()-30H-6B/6J-A14

5x20

M-PD5x30E()-30H-6B/6J-A14

5x30

M-PD6x10E()-30H-6B/6J-A14

6x10

M-PD6x20E()-30H-6B/6J-A14

6x20

M-PD6x30E()-30H-6B/6J-A14

6x30

M-PD8x20E()-30H-6B/6J-A14

8x20

M-PD8x30E()-30H-6B/6J-A14

8x30

98

~—M14X1

H19

S0

58

(g

30

2l

114

L1

~M14X1

H19

S0

o8

T

30

H14

21

114

11




99





